MEMO

JMC S SEries

[1JMCS100

JMCS100
JSC200
Solenoid aWe
MOUNTED

JMCS100
JSC300,JSCE300
Solenoid aWwe
MOUNTED

JMCS100
JSC400,JSCE400
Solenoid aWe
MOUNTED



JMC S100 Multi Connector System:d: X 24;
JSC200, 300, 400 Series Solenoid Valve MOUNTEBC200, 300, 400 251 th i 2225 J IS'P

Terminal Box % JSC200 Series Mounted 08
o - Ny - U5, _
JMCS100 -T14-D4 JSC200 ZR A {ha-port) oy
1335 136.0.
111.5(3—Position) 111.5(3—Position)
Wire Color Pin | Solenoidtlo. 3.0 94.0 3.0 2 85.0(Double) 9 95.0(Double) | a0
No. ) s
Black 01 | sof = = ) ) m (e
Brown 02| 502 o o g[ 9 JE== = - = o=
Red 03 | 5-03 ,ﬁ = i -lorIOXOBO E
Orange 04| 504 T 2o 2| ] ke o
= 2 2 =
Yellow 05| 5-05 2-M3x0.5 HE O 3| % b =
Green 06 | 506 2-62.5 Hole \ 3lel 213] o 5|8, =
Blue 07 ] s-07 [l fsl o) o — T 3| 5 K 7l e =
L S v wa R I e gl < 4 Ll g T &5
Purple 08 | 5-08 &3 09 v e e WD) E % a| d| £
oy 5T 509 SO g [T] N _ R = £
White 10 [ s-10 100.0 19.0]_1.75 e | e =
Pink 11 S-11 2 [16.0] . <
Ton Groen T 5 107.0 24.0 EE por R e 93 JUS— I I el D e
Black/White /| 13| S-13 114.5 750 m] f0 [ 12 | ™ ] o [ 2 [ = e SNERERED
Brown/White /| 14 | S-14 B | 1145 | 1355 | 156.5 B | 1145 | 1355 | 1565 . B | 1145 | 1355 | 1565
roaiine 75 N | 1225 | 1435 | teas N 125 | 1as | reas 7225 [1ss [1ers
Orange/White /| 16
Green/White__/_| 17 o o _FIE o
Blue/White /| 18 ER = El E
Purple/White /| 19 RE o 2 m[ Oi—'mi - owif
Red/White /| 20 —t s R E
Orange/Black_/_| 21 JSC311D-F5-P-L-*+ o |- 30 cou "1ds 74
Yellow/Black__/_| 22 JSC321D-F5-P-L-** =t ‘ 4-M5x0.8
Green/Black /| 28 JSC333D-F5-P—#* (P'R“jog‘ﬁ) 106.5 1,000 6-61/8 1115 1,000 (PR—Port)
Gray/i (P.R1,R2—Port)
ray/Black /| 24 com
Pink/Black /| 25 JSC300 Series Mounted
Jsca00 FAzek Gatv e,
| 153.0 155.0
D-Sub Connector Pin No. 153503 Postion) 153 5 Postiony
FLD-Subfiy A ity £ IAR 5 JSCB31-D-M06 b 123.5(Double) 9 123.5(0ouble) l n-M5x0.8
St | (A—Port)
TN Plug Connector ‘J%A 2 u!’ﬁ—v]% Wé’zuﬁ—v]? !
@. With Clip ;% eI % & e Ero—
PG2-01-D 2 Ll = il q
(T PG2-02-D e T2E56S E—
Sol 1 (Black) ~————++( , =l j% I n j% e
Sol 2 (Brown) ) (@) Sol 14 (Brown/White) / g ! g HOQR ===} 5=l K -
A u < 2
Sol 3 (Red) & (&) (Red/White) / i i R ] x HEOHORH = e
® (Orange/White) / ez *1% S - 3l
Sol 4 (Orange) @ X T T =5 - st L 3| | oo d
@11 (Green/White) / 2|2l 7 I (197 T &
Sol 5 (Yellow) ® N ] m 1 of ESPAG <| 2| o
® (Blue/White) / g 1 5 oA T g
Sol 6 (Green) ® ® (Purple/White) et 1 & 1 1| DR b B
Sol 7 (Blue) @ urple/White) / Y i e H e g . :
@ (Red/Black) / Terminal Box ] Bl =
Sol 8 (Purple) ® ~T14-1 sl u| Z N1 ]
B (Orange/Black) 7 JMCS100 -T14-D4 = =
Sol 9 (Gray) OF: (velow/Black) 7 5 | & e I
Sol 10 (White) © ellow/Blac S AR p [200] Neues s T ~N
. S 5 ) |20.0 | —94.5 Hole 4L n=STATION ({80 9 X I o-STATION (80 n=STATION ({70
Sol 11 (Pink) ® @ Green/Black) / Terminal Box EE o ~ T T T PE 270 Lﬁzu_nq‘ hoas udie 4L P 0 ML 'E 3405502445 pole — :\2 108 rwiy
Sol 12 (Light Green) @% com + Manifold Block w20 s | 1500 1650 | 2000 | 2520 w70 o | 1300 | 1710 | 2030 | 2350 : S Frrvs Brvrs ey peeys
Sol 13 (Black/White) / '®) 224fGray//BIack)) / Fixed Bolt n | 1490 1810 | 2130 | 2450 A | 1520 | 1840 | 2160 | 2480 A | 1490 1810 | 2130 | 2050
25-Pink/Black) 7/ N T
_— HD-SUBf ®
PN R : /
& s o 500 2 1t =57 : iy TEEE
: / o E .
Connector Cable @ 3 SN =4S L QT % 2 % o
. - o | ol
JMCS100-SC-10 / 8o | : - g ;[0 = ®;‘MM
61.0 . - 4
<p,p«,£§$ﬁ'§ 1205 1,000 6—@1/4/ s 1000 (p,;‘iSLZS 1,000 ‘
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40 .D-SUBfi Akiij 1 HiL 45 TP40 (PR1R2=Port) - -
Py e 3 170 JSC400 Series Mounted
[~ PR 20— 2n-G1/4
15.0 350 JSCA00 2% e LA
160.0 =
151.0(3—Position) 151.0(3—Position)
#| Female~ o 9 138.0(0ouble) P 138.0(Double) N iy
14 I
I I E—— H
T o /] ® i —&
O J—y_hf L - Sy T "
25 = &) £ Dﬁ
L | Q L © o
oS b
16D = D) : &
L=(Cable Length) mE 9 NI Vel i
Ordering Code i/t Ordering C ode ] Il % Ordering Code iJ iy {t 5 UNC NO.4-40 9| g X;‘ﬁ 6| 2|2 i )| slo Tia {%}*
rdering Code i iy % PG2-01-D(100mm) JMCS100-SC-10(1m) g% o g% e 5| e o
JMCS100-T14-++ PG2-02-D(200mm) JMCS100-SC-30(3m) HE Ho= =0 = =k Hos e - HE id
ol e ole @Ya G| o WX
7T LIENTNG | Tl L | =t i
Td k Ve Ia Vai Ia P
120 S\SPAY)
E T , E: Wiawe a1 g Hor
ORDERING CODE iT Ity {t % : B : Tl . i =
NS 6 RESSZANY/; i)
K K7arVarYs
R Em= RISSZANZS Rm= &
% —e = :
0, ‘ . STATIONGRLED) J - WeSTATION (280) WeSTATION ()
JMCS1 0 0 - T14 - D4 i R e S S Yl o e
10 20 8 | 1600 | 1960 | 2360 | 2740 s 8 [ 16302010 [ 2300|2770 320 8 | 1600 | 1980 | 236.0 | 274.0
“ 1 A 173.0 | 211.0 | 249.0 | 187.0 B A 176.0 | 214.0 | 252.0 | 290.0 25 790 1 A 173.0 [ 211.0 | 249.0 | 187.0
Setries Function D-Sub Connector Multipole Wireway Box Voltage 9 9 9
A5 it DI K e % R R sat EE sat
- y D nl': o2 7 52
JMCS1: 0 Single Module 0 | 25PinD-Sub T14 ‘ 14 Station 14{i7 0 None g[ ] RS & st S @ sae
Multi Connector Connector 25 D4 | DC24v ' cou oou
Solenoid Valve Mounted D2 6-Gi/4 65.0 120120200 4-01/8 ‘
| bclav. (PR1.R2Port) 1245 1,000 (P‘RhRg:g‘o{tA) 7L (PiR=port) 1.000
130.5 1,000

(63 >Page —
(Page> L))



JMC S100 Multi Connector System:d: X 24;
JSC200, 300, 400 Series Solenoid Valve MOUNTERC200, 300, 400 Z:A4!| Hifif & 23

Terminal Box iz
JMCS100 -T14-D4

Wire Color Pin |SolenoidNo. 3.0 94.0 3.0
No. [l ]
Black 01 | s-01 = =
Brown 02 | 5-02 g 3
Red 03 | s-03 7]ﬁ il o
Orange 04 | 504
2-M3x0.5
Yellow 05| s-05 a
Green 06 | 5-06 2-92.5 Hole _
Blue 07 | 507 L — o
Purple 08 | 5-08 & ,ﬁéégg B £ e
Gray 09 | s-09 S En e —1
White 0] s-10 100.0 19,0 175
Pink 14 S 107.0 24.0
Light Green 2] s-12
114.5
Black/White /| 13 | S-183
Brown/White /| 14 | S-14
Red/White /| 15
Orange/White / | 16
Green/White /| 17
Blue/White /| 18
Purple/White /| 19
Red/White /| 20
Orange/Black /| 21 JSCE311D-F5-P-L—**
Yellow/Black /| 22 JSCEB321D-F5-P—-L-»*
Green/Black /| 23 JSCEB333D—-F5-P—**
Gray/Black /|24
=~ — cOoM
Pink/Black /|25

D-Sub Connector Pin No.
FAD-Sub%iy A s 7 EH IS
Plug Connector
With Clip
PG2-01-D
PG2-02-D

Sol 1 (Black) ~ ——————
Sol 2 (Brown)
Sol 3 (Red)

Sol 4 (Orange)

E Sol 14 (Brown/White) /
(
(
Sol 5 (Yellow)
(
(
(

(Red/White) /
(Orange/White) /
(Green/White) 7
(Blue/White) /

& HOOOEOEOOOOO &
GOOREEEEOEER

Sore Gree)”) (Purple/White) / “liif
Sol 7 (Blue 0 Terminal Box
Bl /
Sol 8 (Purple) ’g?:riglza/;k\i\ck) / JMCS100 -T14-D4
Sol § (Gray) (Yellow/Black) / DR
Sol 10 (White) . ack) L3ty £ S RRAT
Sol 11 (Pink) Green/Black) / Terminal Box
Sol 12 (Light Green) ggl\g 5 , +F_Maglgalaljt8\ock
Sol 13 (Black/White) / R ixed Bo ‘
D-SUBKf ©)
N3y IR LS b ©)
Single D-SUB o :
Connector Cable @ -
JMCS100-SC-10
Terminal Box Plug Connector With Clip Single D-Sub Connector Cable IP40 H.D-SUB%i A\ uify 1~ HL 45 P40
Sl e 0
‘150 35.0
(%) Female
=
Trec 14
o o I
P
|l <+ ::
13425
&
Ordering Code iTli3{t UNC NO.4—dp |- L=(Coble Length) |
Ordering Code il 141t " PG2-01-D(100mm) Ordering Code JMCS100-SC-10(1m)
JMCS100-T14-% PG2-02-D(200mm) AR JMCS100-SC-30(3m)

ORDERING CODE il Jyft %

JMCS1 0 0 - T14 - D4

D-Sub Connector Multipole Wireway Box Voltage
1 DI i A i 3 L
JMCS1 . 0 Single Module 0 | 25PinD-Sub T14 ‘ 14 Station 1417, 0 None
. Connector 25 D4 DC 24V
Multi Connector D2 DC 12V

Solenoid Valve Mounted

(65 D

JSCE300 Series Mounted

JSCE300 Z 41|75

2n—G1/8
(A.B—Port)
158.0(3-Position)
1] 148.0(Double)
p
0
B 1o I W
S| [T %
B | lel 5
L e B 5
M =
S8 =
- N % =
2| 5| X =
HE: T % =
;4 e
:§ & WISy - IS =
H EC S
[ T +
R a % € =
E n % =
] i =
a4 (WIS
=
S =,
; =
d =
3 e
= —%
‘ 4-94.5 Holg
o
|
o
p=i
g
2
! ‘ 435
6-G1/4 5,000 ‘

(P.R1,R2—Port)

JSCE400 Series Mounted
JSCE400 R F1) 4%

HESTATION (630

10 12 14

168.0 | 200.0 | 232.0

181.0 | 213.0 | 245.0

2n—G1/4
(AB-Port)
175.0(3—Position)
3 163.0(Double)
1 \
i & b4
BT ST
g 1 T
BT -£5
H T =
[Tt
T
9|3 RESS i
ik nE ==
é uéﬁ fﬁﬁ 7:%3
i S imE
E 8
i =
“ L o [t
I =
=5 (© [ A
I TR
3 ik &1 Ity
i
9 l4—94.3 Hole
3
3.0
6—51/4/ ‘
(P.R1,R2—-Port) 5,000
STATIONG8
W] 2.

198.0 | 236.0 | 274.0

211.0 | 2490 [ 187.0

JISP

2n-61/8
(AB~Port)

169.0

158.0(3—Position)

148.0(Double)

6.5

H

&

il

S

i
S

T

i
N

[16.0n+11.0]

A=[16.0n+24.0]

B:

16.0

P

Ipn) Upad (b Upad Unnl Upad Upn (pnR Unn)

1‘%,5

200 \aLos5 Hole

6.5

67.5

[19.0n+24.0]
[18.0n+11.0]

A=
B:

19.0

P.

6.5

82,0

%

127.5 5,000
n=STATION (fir #0)
mre] 8 10 12 14
5 | 1390 | 1710 | 2050 | 2350
» 120 [ 1860 | 2160 | 200
2n-G1/4
(AB—Port)
174.0
175.0(3—Position)
163.0(Double)
o/l
N
Vel I PTI
S o
=
97 =
SNy Pt
98 =
A
e
N a Ve
i [T
[t 0
e
1) =
o —
g P
B0 b Tk
ESSZASY/ S
SN
30.0 ‘zoo‘ 4-94.3 Hole
120.0

G o

Qo

com

130.5 5,000
n=STATION (40

= 8 0 [ 12 14
B [ 163.0 | 201.0 | 230.0 | 277.0
A [176.0 | 2140 2520 | 2000

6.5

n-M5x0.8
(A-Port)

.0n+8.0]

=[16.0n+21.0]

A

16.0

P

[0 ) b Unnd Upnd Upad Upny Ut Upnd Uy

6.5
185

49.5
41.0

6.5

[19.0n+8.0]

[19.0n+21.0]

A
B:

19.0

P

6.5
200

[4-94.5 Hole

HSTATION ()
Q
== 8 12 | 14
8 | 1360 2000 | 232.0
A | 1400 213.0 | 245.0
n—G1/8
(A-Port)

Sol1
4;,’,: so2
@ so14

coum

985 5,000
n-STATION (40
ma— 10 12 | 14
B [ 1600 [198.0 | 236.0 | 274.0
A [ 1730 [211.0 [249.0 [ 1870

Crage> @)



MEMO

JSC.JSCE Series

C
40 76‘,9
Og:

o“'"
=

JSC200

Body itlth( )- 10mm
Thread - M5, 3M
) e
e
‘ - ;

Body  uih( g, L \.x.‘a 'y |:| J S C 2 0 0
] “F [13SC300
s, .. [1JSC400

y (
Thread( )- 1/4, /81

- g
@ A
P
‘ .:'l m )

JSCE300

Body ith( )- 15mm .I.'C

Thread(  )-1/8, 5M . i
o=
e |

- [13SCE300
B g . - [1JSCE400
: [1JSCE500

JSCE500
Body itlth( )- 26mm
Thread(  )- 3/8



JSCZOO M5  series

Solenoid / Pneumatic Valvestiti/< 5 I®

05/2, 5/3-M5, 3/2-M3 [O10mm Body Width (A{K%EE) OManifold or Sub-Base Type (EEER%) OHigh Efficiency, Space Economy Type (it i, 5 4= [ &)

JSC271D-F-P-L—**
2

ZIHAN

13

il

JSCP261D-F
2

] .

“ 4]

| [y >
315 P %.9"?

B JSC200-F5

(SI=] ssceoo-Fes SC200-B
JSC211D-FC5-P-L—** 5Port M5 Bottom Port Plate =) 5-Port ®4 One-Touch Fitting Blanking Plate
2 4 5 M5 &> 5 o4

315

., JSC200-F3
i£] 3Port M5 Bottom Port Plate
3 M5

JSC200-FC3 =, J5C200-E
3-Port 4 One-Touch Fitting _mﬂ External Plate

3 o4 N

JSCP211D-F5
2 4

SRVIIARS

The specification on each item can be amended without any prenotice to improve a performance.

The specification on each item can be different from actual specification.
*% Voltage Selection #x:

Transition Capacity Graph il 44 The Material of Parts {441

300 ‘ ‘ ‘ ‘ ‘ m Valve Body : Die-Cast Aluminium L]
= 250 - ® Spool : Aluminium u

‘€ 200 - 0_:33/2 T m Seals : NBR m NBR
= 150 — ’{ s ” m Spring : Stainless ]
é 100 T ! ® Cap : Zinc Pressure Die-Cast [ ]
50 - ..-“/""’" m Pilot Parts : Glass Filled Nylon [ ]
o= [ ® Armature : Stainless Steel ]

1 2 3 4 5 6 7 8 m Armature Seals : Viton ] Viton

Pressure [/ (bar)

ORDERING CODE I /4t 5

JscC2 1 1 D - F5 - P - L

’—1 ’_1 \_‘ | | | |
| | |
Function Return Method Port Type Port Plate <3 Thread Manual Operator Solenoid Coil Type Voltage
] 7 5] 2)) i A4 5 5 EARNI N 1 B SR AL F- 3 i {F 2 [ 7 iiyig
0 0

JSC2 1 | s/2single M4 0 None £ D ‘ Manifold i # i None None 0 None 0 None
- . 2 | 5/2Double A 1 Air+Spring “(+3 # B ‘ Sub-Base it F5 | 5-PortM5x0.8 P | Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenoid Valve i - Non-Locking Assembly With LED —
3 | 5/3Closed Center fidist 2 | Air “t F3 | 3-PortMsx0.8 — e — %0 D2 | DC 12V
ver Ing -
4 | 5/3Exhaust Center il 3 | Spring 7 FN5 | 5-Port NPT M5x0.8 L | heverkocking 180 Degree Plug-in Wire
JSCP2: Assembly With LED
y 5 | 5/3Pressure Center 1 i st FN3 | 3-Port NPT M5x08 180
i i 2 | Srressureventer A
Preumaic Valve "1 6 | 312 Normally Closed FC5 | 5-Port 28 One-Touch Fiting
7 | 3/2Normally Open FC3 | 3-Port &8 One-Touch Fitting

E External End Plate,Plate M3x0.5

B Blanking End Plate

(69 D

X

SPECIFICATION #if%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM it H FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 2.0~17.0 2.5~7.0
Eff. Sectional Area(mm?)-5bar 23 1.8
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 25ms 35ms or Less 35ms

Max. Working Frequency 5c/sec5 / 3c/sec3 /
Lubrication Not Required (Use ISO VG32#) ( 1 SO VG332 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption(DC)

DC:0.65W(24V:27.0mA/12V:54.0mA)

5Port 2Position Solenoid Valve (Manifold)
524 AR (RO

Single Solenoid #.4;
JSC211D-F5-P—L—**

%ﬁﬂ]@ zt-& GTe A
8.

315

2-M5x0.8(2,4-Port)
Red

Block

2-M3x0.5 §P4.0(back)
14.7] 9.5
72.0

3-M5x0.8(1,3,5-Port)

JSC2200-F5-P-L-x* ==

2 4

wla [ Lk

315

5Port 3Position Solenoid Valve (Manifold)
513 LA IR CELHRACY)
Closed Center it
JSC233D-F5-P-M-#*

315
Exhaust Center =
JSC243D-F5-P-M—**

2 4

315
Pressure Center rijst
JSC253D-F5-P-M-x+

2 4

315
3Port 2Position Solenoid Valve (Manifold)
324 LRI (RO
Single Solenoid x4k &
JSC2610-F-P-L—#*

2

|
e

2-M3x0.5(1,3—-Port)

5Port 2Position Solenoid Valve (Sub-Base) 5Port 2Position Pneumatic Valve
511240 LA IR (R FERCE) 5H201 3

Single Solenoid £k
JSC2118-B-P-L-*x

Single Pneumatic 3k
JSCP211D-F5

2 4
CANIIVAZE
315

340

Single Pneumatic i3k
Jscp2118-B

2 4
ANITARS
315
Double Pneumatic %k ‘L‘
JSCP2200-F5

2 4
>
318

Double Solenoid M4

External Pilot 4Miisk S
JSC2208-E-P-H-+x
2 4

mi\ [ £l
315 °
Closed Center riff 555

5Port 3Position Solenoid Valve (Sub-Base) 150PP335-8 | ‘
2

51 3o LI (R ) 4 %
Closed Center i 'ﬂm&

315 | 64.0 |

5Port 3Position Pneumatic Valve
534 I

J8C2338 8 P-L — s == Exhaust Center f1jlltst
JSCP243B-B
315 # \ =t / F
Exhaust Center it ks 315 -
Jsc24aBZfB;Pfo** Pressure Center ikt

JSCPZESBEB

AL [T 1 ' T
315
Pressure Center ififist ke Ti5 <

J8C253B-B-P-L—**

2 4
NTIEET 2B 3Port 2Position Pneumatic Valve

Sre 3H2P R
Single Pneumatic 3 . 33705 M3x0.5(2Port)
Jschzewo o Y M5x0.8
SANIINRS v
13

19.0
16.5

|_ss0 |

! 2-M3x0.5(1.3-Port)
EIE
1ds 7.0

Crage> @)



JSCZOO M5  series

Solenoid / Pneumatic Valvest fii /< 5 i

JSCB20 SINGLE, DOUBLE MANIFOLD BLOCK

JSCB20 ¥, Z A [RIAR 22

(JSC200 Solenoid & Pneumatic Valve Use)
JSC200 k. “{BhiH

Manifold Block Dimension

A S

P=10.5 ‘ 14
2n—MS5x0.8. i
(2,4—Port) %A
RO HRE
PNZNZN 9
doc ot
T@ \4—54.2 Hole
40 B=(10.5n+9.5) 40
A=(10.5n+17.5)
5PORT MANIFOLD BLOCK DIMENSION X
SR n=STATION (50
] 2 4 6 8 10
A | 305 [ 515 [ 725 | o35 | 1145
B | a8s | ses | sos [ 1015 [ 1225
3PORT MANIFOLD BLOCK DIMENSION
30 n=STATION (RL 0
B 2 4 6 8 10
A | 285 | 495 | 705 | 915 | 1125
8 35.5 56.5 7.5 98.5 119.5

CUOEED

75.0

SCB20-BLK
Blanking Plate

Base Gasket

§-G1/8
(1.3.5-Port)

SCB26-BLK
Blanking Plate

<

Manifold Gasket

Manifold Ordering Code [@#RiI4ft 5

JSCB2

1

MO4

Function 7

Manifold Station i

JSCB2 ‘ None £ 0 None % MO02 | 2-Station 1.
jf&%%o,ﬁm"‘d Valve G S Single Station Sub Base MO04 | 4-Station i
- 1/8 Port Without Pilot Ports  —————————
2 | NPT A S M6 | 6-Station
Double Modular D |Manifold,Port 1/8 IH:211/8 M08 |8-Station fi
H A A Double Modular Manifold Block, M10 | 10-Station fii
Manifold Block Dimension bB M1 | 10-Staffon i
i LR, B
A R MoPon L e
louble Modular Maniiol 0CK,
P=10.5 14.0 DC6 26 Fiting
# SRS, 06
1 [T Manifold,M5 Port
3 16.8 b3 Without pilot ports (3/2 way)
5| 982 Hole - IRRMSEL, A S 213)
30,5~ L:/ i R
e o o o
\ B Pan N I
' | DT d . .
ok M P Single Station Sub Base
L 1 ¢ D . .
i § Va Dimension(SCB31-S)
E oo s # LG ) (SCE31-5)
3 28.5
40 B=(10.5n+9.5) 40 60.5
A=(10.5n+17.5)
2n—M5x0.8
(2:4-Port) DOUBLE MODULAR DIMENSION o
TR RH S n=STATION (i)
of & 2 4 6 8 10
B | s | 595 | 805 | 1015 | 1225

u)
o

Manifold Block Dimension

[N
P=105 125
Eafialia
/2935 Hole
—M5x0.8_ ] -
EQ—P:rt) ~Ne¢ % i
77@ % 9% ;E, a
35 || B=0105nt7.5) || 35
A=(10.5n+14.5)

,3—Part)

JSCBOO 1/8 Series

Solenoid / Pneumatic Valvest fii/<5h i®

24 315

315

JSC311D-F5-P-L-#*
2 4

JSC371D-F-P-L-#
2

SIEAN

13

*%:Voltage Selection xx:

Port Plate Ordering Code (Material:Zinc) ;3T IG5

B

JSC300-FC5
5-Port ® 6 One-Touch Fitting

JSC300-E
External Plate

JSC300-F5
5Port G1/8 Bottom Port Plate
G1l/ 8

g

JSC300-F3

> 4 JSC300-FC3

Ordering Code IT 131t 5
SCB26-BLK
Blanking Plate

Ordering Code IT 141¢ %
SCB26-BLK Bjanking Plate
(Material : STS304)

3Port G1/8 Bottom Port Plate
3 G1/ 8

3-Port @ 6 One-Touch Fitting
3 ®6

315

@ (Material : STS304) STS304
- lsdgs: :) 4 ‘& Manifold Gasket
anifol askef =
Base Gasket
(Material :NBR) <SS (Material:NBR)
NBR NBR

315 The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

Transition Capacity Graph i & i1 2 % The Material of Parts #4441 )i
1200 HEEE ® Valve Body : Die-Cast Aluminium "
= 1000 — m Spool : Aluminium L]
£ 400 5/2,3/2 ;
£ .53 — m Seals : NBR u NBR
= 600 f,.._ m Spring : Stainless ]
§ 400 — K el m Cap : Zinc Pressure Die-Cast u
e . .
200 e m Pilot Parts : Glass Filled Nylon L]
0 m Armature : Stainless Steel u
1 2 3 4 5 6 7 8 m Armature Seals : Viton L] Viton
Pressure k73 (bar)

ORDERING CODE i/ /4t 5

JsC3 1 1 D - - L -

Valve Series Function Return Method
& 751 ) e 524175 X

Port Type Manual Operator Solenoid Coil Type Voltage
OB TR A 28 X 1R
Jsc3 1 | 5/2Single ML H# 0 None D ‘ Manifold fi f& it 0 None 0 None 0 None 0 None
- . 2 | 5/2Double W% 1 Air+Spring “+#% B ‘ Sub-Base i F5 | 5-PortG1/8 P | Push 90 Degree Plug-in Wire D4 | DC24V
Solenoid Valve i i - Non-Locking Assembly with LED e By
3 | 5/3Closed Center i £} A 2 Air # F3 | 3-PortG1/8 90 D2 | DC12v
4 | 5/3Exhaust Center d1iltst 3 Spring # i FN5| 5-Port NPT1/8 L LeverLocking M 180 Degree Plug-in Wire
JSCP3: Assembly with LED
5 | 5/3 Pressure Center 1 5 FN3| 3-PortNPT1/8 — 180
Pneumatic Valve () 4 —t
6 | 3/2Normally Closed FC5| 5-Port 56 One-Touch Fitting
L 3/2 Normally Open FC3| 3-Port 56 One-Touch Fitting
E External End Plate,Plate M5xX0.8

@@=



JSCSOO 1/8 Series

Solenoid / Pneumatic Valvest i /< 5 &

05/2, 5/3-1/8,3/2-M5 O15mm Body Width (15mm A&{K3E &) OManifold or Sub-Base Type (K E%R %)

SPECIFICATION #if%

OHigh Efficiency, Space Economy Type (it F,

SERIES SOLENOID, PNEUMATIC
ITEM 5i H FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~7.0 2.0~7.0
Eff. Sectional Area(mm?)-5bar 9.0 7.5
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 25msul/bT

35ms or Less 35mszii /b }*

Max. Working Frequency

8c/sec 8K/F»

5c/sec 5IKIFS

Lubrication

Not Required (Use I1ISO VG32+#) (

ISO VG32 )

Manual Override

Push Button( Standard), Lever Lock(Option)

(

) )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption(DC)

DC:0.65W(24V:27.0mA/12V:54.0mA)

5Port 2Position Solenoid Valve (Manifold)

51247 HL I I (BLHERLAS)
Single Solenoid .4k

JSC311D-F5-P-L-#*
2 4

315

2-G1/8(2,4-Port)

36.0

X )

Double Solenoid

JSC320D-F5-P—L—ss =
2 4

2-M3x(.5 [DP5.0(back)

5Port 3Position Solenoid Valve (Manifold)

513 A IR (ELHEAC )
Closed Center

JSC333D-F5-P-M—**
2 4

315
Exhaust Center
JSC343D-F5-P-M-+x

2 4

T T T

315
Pressure Center
JSC353D-F5-P-M-+x

315

3Port 2Position Solenoid Valve (Manifold)

31240 LRI (RO )
Single Solenoid #.4:
JSC361D-F-P-L-#x

2

(73 D

M5x0.8(2—Port)

5Port 2Position Solenoid Valve (Sub-Base)
5112457 HL A I (R L)
Single Solenoid 4

JSCB11B-0-P—L—**
2 4

A L

315

Manual
Button

el
Double Solenoid

External Pilot 45T §

JSC320B-E-P-M-**
2 4

315 g

5Port 3Position Solenoid Valve (Sub-Base)
5 I3 H ) (RLPRIC )

Closed Center
JSC3338-0-P—L—+=

315
Exhaust Center
JSC343B-0-P—L-+x

315
Pressure Center
JSC3538-0-P-L-**

2 4

s AVIESEHIPA.

315

5M2{7 3R

JSCP311D-F5

2 4
Laviipass
315

[
2-93.2 Hole,
(Manifold Hole)

Jscp3118
2 4

M

315

JSCP320D-F5
2 4

Siviiyaxs
315

5HI3REI
Closed Center
JSCP33382 4

,{>,
315

Exhaust Center
Jscpasag

,{>,

315

JSCP3538
2 4

Single Pneumatic #.3%

Single Pneumatic #3%

Double Pneumatic %3k

Pressure Center

ST
315

3Port 2Position Pneumatic Valve

32673 IR

Single Pneumatic 32k

JSCP361D

2
AN
1 3

5Port 2Position Pneumatic Valve

5Port 3Position Pneumatic Valve

I 70.5
——705

cE—{tS
60 ' ‘

MSx0.8(2Port)

M5x0.8

2-MS5x0.8 (1,3—Port)
_ 3,3 11.0

157 (B &)

JSCB30 SINGLE, DOUBLE MANIFOLD BLOCK

JSCB30 Hi, ZA IR 2%
(JSC300 Solenoid & Pneumatic Valve Use)
JSC300 k. LT

Manifold Block Dimension
BB R

JSCB30-BLK
Blanking Plate

f
20—G1/8. K

(2.4-Port) }
R

i 4-94.5 Hole
3

o
‘200
61.0

F
|

& e%]r i
6.5 8=(16.0n+8.0) 6.5
A=(16.0n+21.0)

5PORT MANIFOLD BLOCK DIMENSION
SR n=STATION (i)
0 2 4 6 8 10

ITEi

A | 400 | 720 | 1040 1360 | 168.0

B | 530 | 850 | 1170 | 149.0 | 1810

S
=59
B g

3PORT MANIFOLD BLOCK DIMENSION <>
3L n=STATION (50 ’!9
e 4 6 8 10
Manifold Gasket
A | 400 [ 720 [1040 ] 1360 [ 1680
s | 530 | 850 |117.0 | 1490 [ 1810

JSCB30-8LK
Blanking Plate

o=
-

Base Gasket

Double Modular

JISP

Manifold Ordering Code [t iT it

JSCB3

’—1’—1

1 - D -

\_‘

Function Jifi¢ Manifold Station fi4(

Mo4

—

JSCB3 ‘ None £ 0 None i MO2 | 2-Station £
fssggga,ﬁzﬂmd Valve 1 |G S Single Station Sub Base, MO4 | 4-Station fi;
1/4 Port Without Pilot Ports s pee——

2 | NPT AR AL, RS MO | 6-Station £

D Manifold, Port 1/4 j@fz: 3% 11/4

MO8 | 8-Station {i

Manifold Block Dimension DB | Double Modular Manifold Block, M10 | 10-Station fi
EZbu S iare P 118 Port S{Libk{LH, #1118
P=16.0_20.0 Dc6 | Double Modular Manifold Block,
£6 Fitting
ZRBHL L, 06
20, 6-G1/4 D3 | Manifold, Port 1/8 (3/2Way)
i %f (1,3,5-Port) i, BIE1/8(213)
i ] 4-$4.5 Hole i H
194 B ) .
‘ ‘ g D g Single Station Sub Base
BREAe N Dimension(JSCB31-S)
P 9‘ § 21 s BB S <) (JSCE31-S)
|15.0|
33.0
85.5
B=[16.0n+11.0] 8.5
A=[16.0n+24.0]
(Z?Z:SL{S T:‘S 40 %(J(Hﬁhim%DULAR DlMENsmf,:swm\(’;r 5
T " 2 4 6 8 10
00D B s | 560 | sso | 1200 | 1520 | 1840 A N &=
P=16.0 ___‘ 260 | 9 (} d lg E; E] EE
. . . o ] mn|l=) N
Manifold Block Dimension Isal
IS e
P=16.0 18.5 54;1/4] o ;15__:65

JSCB36-BLK " Mox0.8

(2—Port)
Blanking Plate

65

(1,2,3,4,5-Port)

Ordering Code i1 131t %
JSCB36-BLK
Blanking Plate

JE@ & (Ej 2-84.5 Hale

Bl Bl B Z o

AdAdNe ||
B=(16.0n+8.0) 5.5

1

A=(16.0n+21.0)

@ (Material : STS304)
STS304
@ Manifold Gasket.
(Material : NBR)
NBR

Ordering Code iT It 5

JSCB30-BL
MBlanking Plate

(Material : STS304)
STS304

Manifold Gasket
S~ <\Base Gasket

. (Material:NBR)
= NBR

=7



JSC4OO 1/4 Series

Solenoid / Pneumatic Valvest i/ <z

05/2, 5/3-1/4,3/2-1/8 [O18mm Body Width (18mm Ak E) OManifold or Sub-Base Type JEEER %) [OHigh Efficiency, Space Economy Type (it B, 5 497 (8 &)

]

JSC420D-F5-P-M—+**
2 4

JSC411B-0-P-M—#*
2 4

JSC411B-E-L-L-»

2 4
=hulIVA
315 Py

SPECIFICATION #if%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM Hi H FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~7.0 2.0~7.0
Eff. Sectional Area(mm?®)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25ms or Less 25ms

35ms or Less 35ms

Max. Working Frequency

5cisec 5 / 3c/sec 3

/

Lubrication

Not Required (Use ISO VG32+#) ( |

SO VG32 )

Manual Override

Push Button( Standard), Lever Lock(Option) ( )

¢ )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption(DC)

DC:0.65W(24V:27.0mA/12V:54.0mA)

5Port 2Position Solenoid Valve (Manifold)
51240 LRI (ELHEILE)

5Port 2Position Solenoid Valve (Sub-Base)
51124 HL R I (R L)

5Port 2Position Pneumatic Valve
511243

JSC400-F5
5Port G1/4 Bottom Port Plate
G1/ 4

JSC400-F3
3Port G1/4 Bottom Port Plate
3 G1/ 4

JSC400-FC5
5-Port ® 8 One-Touch Fitting
5 ®8

JSC400-FC3
3-Port ® 8 One-Touch Fitting
®8

JSC400-E
External Plate

Single Solenoid 4k
JSCATID-Fo-P-Lne
4

o]

2- G1/4(2,4—Port)
Red

EG ©

AT L :

315

2-64.2 Hale Black

| f ) TR

(Manifold Hole)

43.0

o
L )
Bk 3

I
25.3 Lﬁ.‘ \_2-M4x0.1 DA5.0(back)
92.5

315

315

The specification on each item can be amended without any prenotice to improve a performance.

*%:Voltage Selection »x:

The specification on each item can be different from actual specification.

Transition Capacity Graph i 2k

Double Solenoid M4
JSCA200-F5-P-L-as
2 4

BNIIVA §

2-G1/8(3,5-Port)
G1/4(1—Port)

=
E

+ e

‘ I o

Single Solenoid #:£k[#

JSC411B8-0-P-L—»x
2 4

W
Double Solenoid

External Pilot 4t %
JSCA20B~E-P-pi-1+

Single Pneumatic #.3
JSCP411D-F5
4

CANIIvARS
315

HEQCRI

+
;

Single Pneumatic #.3k 79.0
JSCP411B

E €
9| 115000051

Double Pneumatic Ak
JSCP420D-F5

2 4
LahVITAS:
315

The Material of Parts /44

m Valve Body : Die-Cast Aluminium
m Spool : Aluminium

m Seals : NBR

® Spring : Stainless

m Cap : Zinc Pressure Die-Cast

NBR

138.0

315 ‘ 115.0

5Port 3Position Solenoid Valve (Manifold)
51134 LRI (L)

Closed Center =

JSCAZID-FP-M-sx

315
Exhaust Center it A=

115.0
132.0

i ID
ANITA iE 5 L
315 ‘ ‘

5Port 3Position Solenoid Valve (Sub-Base)

5 130 FL A I (R PRI
Closed Center st
JSC433E5270;P7L7”

5Port 3Position Pneumatic Valve
537 BN

Closed Center =

JSCP4338,

2 4
,4>V, E Z k{}, ] 82.0
315

;
Exhaust Center it
JSCP4438

m Pilot Parts

. Glass Filled Nylon

2 4
N T( N ;T M - 98.0

Pressure J; (bar)

2000 ‘ ‘ ‘ ‘

E 1600 5/2,3/2 |
£ 1200 —m-5/3 B
= 800 === T
G 400 S et

—

0
1 2 3 4 5 6 7 8

m Armature : Stainless Steel
® Armature Seals :Viton

Viton

ORDERING CODE 1] {5

JSC4 1

Valve Series i
8 7 5] T i

1

D -

F5 - P - L -

D4

| | |
I I I I
Port Plate <3 Thread Manual Operator Solenoid Coil Type Voltage
He LR BB A ek 3 B R 1
0 0 0

3/2 Normally Closed

FC5 | 5-Port &8 One-Touch Fitting

Function Return Method Port Type
LAY B O
ISC4: 1| si2single szl 0 | None D ‘ Manifold 113 i None None None None
h 2 | 5/2Double W 1 Air+Spring <+ B ‘ Sub-Base R F5 |5-PortG1/4 P Push L 90 Degree Plug-in Wire D4 | DC 24V
Solenoid Valve i - Non-Locking Assembly with LED
3 | 5/3Closed Center it 2 | Air “ F3 | 3-PortG1/4 90 D2 | DC 12V
4 | 5/3Exhaust Center il L 3 | Spring #:% FN5 | 5-Port NPT1/4 L | LeverLocking M | 180 Degree Plug-in Wire
JSCP4: LA Assembly with LED
5 | 5/3 Pressure Center '/l il FN3 | 3-Port NPT1/4 _ 180
Pneumatic Valve () & | oanomay Coses
7

75 D

3/2 Normally Open

FC3 | 3-Port &8 One-Touch Fitting

E External End Plate,Plate M5x0.8

JSCA43D-F5-P-M-xx
2 % ‘

127.0 ‘
144.0

315 i
Pressure Center it
JSCA53D-F5-P-M-xx

315

3Port 2Position Solenoid Valve (Manifold)
3124 LI (PO

Single Solenoid #i£k
JSCZ461D*F*P*L*"

SANIE

13

350

315
Exhaust Center
il

JSC443B-0-P-L-**
2 4

3156
Pressure Center

s

63.0

127.0

ERiSN

150.0

JSC453B-0-P-L—**
2 4

315

31
Pressure %emer RS
JSCP4538

2 4
ST

315
3Port 2Position Pneumatic Valve
3120

Single Pneumatic i3k
JSCP461D

2
NI
13

G1/8(2-Port)
M5x0.8

284

Crage> @)



JSC4OO 1/4Series JSCEBOO I/BSeries
]
Solenoid / Pneumatic Valvesti i/ <5h K Solenoid / Pneumatic Valvesti fii/ <)) & Is P

05/2, 5/3-1/4,3/2-1/8 [O18nm Body Width (18mm ZA{K3EE) OManifold or Sub-Base Type (JKEE%R%E) [High Efficiency, Space Economy Type (it i, 5 4% @ &)

Manifold Ordering Code imii il 4t =

JSCB40 SINGLE, DOUBLE MANIFOLD BLOCK
JSCB40 ., A7 IR 2% el E - B - T

(JSC400 Solenoid & Pneumatic Valve Use) \—‘
JsCa00 i BhimA \—‘
0

Manifold Block Dimension JSCB3 None 0 None MO02 | 2-Station 17
AR Double Modular RUPHEE™ "o s [Snofe Satn S Base. ™ o [eaion 1
Manifold Block Dimension 2 [neT b Roout Pitot Ports 06 | 6-Station 1

EZ0x X iare T iNiA] D  |Manifold, Port 1/4 [i:#11/4 MO8 | 8-Station £

JSCB40-BLK DB |Double Modular Manifold Block, ﬂ 10-Station fi7

114 Port ZAHEML AR, 114

pc8 | Double Modular Manifold Block,
&8 Fitting.

6-G1/4 LR, 06

(135-Fert)y5 | Manifold, Port 1/8 (3/2Way)

IR, 1F/8(213)

Base Gasket
M5x0.8

20.0

Single Station Sub Base
Dimension(JSCB41-S)
PRI ) (JSCBA1-S)

1.0
71.0

19.0

2n-G1/4

(z.4—%ng

6-G1/4
(1,3,5-Port)

4-94.3 Hole|

JSCEP311D-F5
2 4

o
2
et — E {7 6.5 8=[19.0n+11.0] 65
o
jl E A=[19.0n+24.0] DOUBLE MODULAR SUB BASE DIMENSION
H SN0
@1 (ﬁ;:sl{s P=19.014.3 4 2 a 5 5 o
L 1 A 490 | 870 | 1250 | 1630 | 201.0 4-94.3 Hole 2-M4x0.7
n n A a9 @
L ) o
g QDG :
6.5 B=(19.0n+8.0; 6.5 o o of q -
A=(19.0n+21.0) =190 287 3 £ 3 g >F al JSC300-F5 JSC300-FC5 JSC300-E
Manifold Block Dimension i##i)i+] A 3 §Port G178 Bottom PortPlate S-Port 56 One-Touch Fiting External Plate
P=19.0_20.0 B 2 4 S
SPORT MANIFOLD BLOCK DIMENSION Lok 5 o m m & -
SHHIR T =STATION (it ) 5-G1/4. .9 ~19.9_ & =
] 2 3 6 s 10 (1,2,3,4,5-Port) 250 I 315 \_/
! n-G1/4 % X JSC300-F3 JSC300-FC3
A | 60 | 840 | 1220 | 1600 | 196.0 (2-Port) EAYEIVES . 3Port G1/8 Bottom Port Plate 3-Port &6 One-Touch Fitting
5 | 00 | 970 | 1350 | 173.0 | 2110 . 3PS Hole | 3 G1/8 6
5 JsCB46-6LK % be b b / D B Ordering Code Ordering Gode The spec!f!cat!on on each !tem can be amended without any prepptlcg to improve a performance.
3PORT HANIFOLD BLOCK DIVENSION Blanking Plate <D Q) €> | o JSCB46-BLK JSCB30-BLKg aniing Plate *%:Voltage Selection #x: The specification on each item can be different from actual specification.
3R n=STATION ({7 $0)
d Blanking Plate (Material : STS304)
Y 2 4 s s 0 LL| g 19 19 |9 @ (Material : STS304) STS304
n | 400 | 40 | 1220 | 1600 | 1980 s YT . STS304 SN Manifold Gasket
. = . Manifold Gasket ’("‘
B | 590 | 97.0 | 1350 | 1730 | 2110 Manifold Gasket B=(19.0n+21.0) (h:a"“e‘r"al :i‘sag) (Bhiztee(rsigls'l;\leéR)
NB R 2 NBR Transition Capacity Graph i & k& The Material of Parts i+ )i
1200
1000 ® Valve Body : Die-Cast Aluminium L]
= 800 — m Spool : Aluminium [ ]
E | T -1 m Seals : NBR u NBR
= 600 =L m Spring : Stainless u
c . = — . .
G 400 =TT 5/2,3/2 m Cap : Zinc Pressure Die-Cast m
200 ——= : LI o m Pilot Parts : Glass Filled Nylon ]
0 . 5 3 7 5 5 > Ls [ EL [ ‘10 m Armature : Stainless Steel u
® Armature Seals :Viton u Viton
Pressure JEJ) (bar)

ORDERING CODE i] {5

JSCE3 1 1 D -F5 - P - SC1 - CN1 - D4

‘ H \ \ \ \_‘
| | |

Val ries Function Return Method Port Type Port Plate &3 Thread [l Manual Operator Solenoid Coil Type Connector Type Voltage

1 % 51 ) fie P EN NN e DR R T2l E1CN HHEIE R [l

: 0 0 0 ne

JSCE3 1 5/2 Single A& 18 0 | None D ‘ Manifold 4% None None None. 0 |None 0 Nol
) 2 | 5/2Double W& 1 | Air+Spring“i+i#% B ‘ Sub-Base it i i F5 | 5-PortG1/8 P | PushNon-Locking g1 | 3 Pin Connector Coil DIN (CN1 | Normal Connector A2 | AC 220V
Solenoid Valve i #
e 3 siscioseacenter i 2 | Air it F3 |3-PortGi/8 T Covertonng — SG1] Sommet FyngLoats CD1| Comneciorwin LED A1 | AV 110V
4 | 5/3Exhaust Center ‘il 3 | Spring #i FN5 | 5-Port NPT1/8 D1 | Grommet /Flying Leads CZ1 | Cornnector With LED A4 | AC 24V
JSCEPS: With LED & Surge Suppressor —
5 | 5/3 Pressure Center i st FN3 | 3-Port NPT1/8 D4 | DC 24V
Preumatc Valve L oty Glosed FC5 | 5-Port ©6 One-Touch Fiting SL1 | %0Degree Plugin D2 | ooty
J Wire Assembly With LED il Bl
7 | 312 Normally Open Fc3 | 3-Port @6 One-Touch Fitting 90
- _— 180 Degree Plug-
E |External EndPlate, SMT | e :fs':,:b‘yu&/:;‘ LED
Plate M5X0.8 180

&) >Pace [ Page> (@)



JSCEBOO 1/8 Series

Solenoid / Pneumatic Valvesti it/ <z &

05/2, 5/3-1/8,3/2-M5

SPECIFICATION #if%

SERIES SOLENOID, PNEUMATIC
ITEM it H FUNCTION 5, 3Port 2Position 5 | 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?)-5bar 9.5 7.5
Ambient & Fluid Temp. 5~60°C(41~140°F)

Response Time(5bar)

25msorLess 2 5 ms

35ms or Less 35 ms

Max. Working Frequency

8c/sec 8

/

5¢/sec 5 |/

Lubrication

Not Required (Use ISO VG32#)

( 1SO VG32 )

Manual Override

Push Button( Standard), Lever Lock(Option) ( ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption

AC:3.5VA(60Hz)/DC2.5W

5Port 2Position Solenoid Valve (Manifold)
5 FI2A FL I CELHRIC )
Single Solenoid 4k

2-G1/8(2,4-Port)
JSCE311D-F5-P-SD1—*x
2 4 =
315 (Manifold Hole)
2
LK

Double Solenoid
JSCEB20D-F5-P-Sh1—+x

315

5Port 3Position Solenoid Valve (Manifold)
5 I3 FL I (LA
Closed Center iz
JSCEBB327§5*P*SU*~*

315
Exhaust Center Timﬁgﬁ‘ﬂ n P, n

5Port 2Position Solenoid Valve (Sub-Base)
5 F1 247 HLTEE I (R e LA

Single Solenoid #4k[4
JSCE3118-0-P-SC1-CN1-+x
2 4

S ANIIVA

315

XNkl

2-93.2 Hole
(Manifald Hole)

maxi0.0 156.0

Double Solenoid
=il

External Pilot st =
JSCEB20B-E-P-SC1-CN1—*x
2 4

315 g

‘ 148.0

5Port 3Position Solenoid Valve (Sub-Base)

5 1307 LA I (e L

Closed Center it
JSCEB338-0-P-SC1-CN1-+x

JSCE343D-F5-P-SL1-#*
2 4

315
Pressure Center ik
JSCER53D-F5-P-SL1—++

315

3Port 2Position Solenoid Valve (Manifold)
3124 FEL IR (PR
Single Solenoid #£:[E | 17—‘0-1 M5x0.8(2—Port)
Jsc ~F-P-SM1—xx :
2k3361D F-P-SM1 <] Q%
AN RINF
[14.5] .

2-M5x0.8(1,3—Port)
11.0

(79 TR

)

2 4
g \ T 1 { QE mo‘xﬂ‘l() 166.0

315

Exhaust Center it =
JSCE3438-0-P-SC1-CNI—+x

315
Pressure Center #ijkat
JSCE3538-0-P-SC1-CNi—xx

A LI

5Port 2Position Pneumatic Valve
SH2f B

Single Pneumatic #i3
JSCEP311D-F5

Single Pneumatic #.3
JSCEP3118B

Double Pneumatic 3k
JSCEP3200-F5

2 4
Iz
315

5Port 3Position Pneumatic Valve

CIREITA I

Closed Center tiff= 705

JSCEP33 | ’ \

PRI i
L 80 |

Exhaust Center it
JSCEP3438
2 4

315
Pressure Center ik
JSCEP3538

2 4

3Port 2Position Pneumatic Valve
3H2R B

Single Pneumatic #3k 36.5
JSCEP361D

1 17.0 M5x0.B (2—Port)
) ] M5x0.8
SANIINSS Es Ao
13

2-M5x0.8 (1,3-Port)
Hee
_pad 1o

O15mm Body Width (15mm ZA{KEEE) OManifold or Sub-Base Type (JEEEZR %) High Efficiency, Expense Reduction Type (it FH, 5495 &) &)

JSCB30 SINGLE, DOUBLE MANIFOLD BLOCK
JSCB30 HL, A IR 2 2%

(JSCE300 Solenoid & Pneumatic Valve Use)
JSC300 HiRE. BNIRA

Manifold Block Dimension

BTN

Double Modular

Manifold Block Dimension

JIS~

Manifold Ordering Code [i&#7 i1/t 5

JSCB3 1 - D - Mo4

—— —

\—\

Manifold Station i

0

1/4 Port Without Pilot Ports
2 | NPT 1/4

JSCB3 None 0 None MO02 | 2-Station fi
RE Saenidele TG S | Single Station Sub Base. M04 [4-Station f;

MO6 | 6-Station fi.

D Manifold. Port 1/4 [{#i:#:11/4

MO8 |8-Station fif

DB | Double Modular Manifold Block,

M10 | 10-Station {ii

. i .,
! eZia  SRlae 2L 1/8 Port ZHBHILICE, Br11I8
JSCB30-BLK JSCB30-BLK =16.0_20.0 DC6 | Double Modular Manifold Block,
Blanking Plate Blanking Plate &6 Fitting
|mimmim E% LR, 06
— @ = il D3 | Manifold, Port 1/8 (3/2Way)
< = = . i, 1118203)
Manifold Gasket Base Gasket [ ‘ 200
D | , 13.0] ~6-61/4
60185 M5x0.8 L /444'5 Hol (1,3,5-Port)
_p=16 | ]
1 9 VZ: - .
i E:DH ) o' @e[ b —f Slngle Station Sub Base
kd - d \ 4]  Dimension(JSCB41-S)
 I—— ! | B | &
& b6 1 i 1 <F (TSCRA S
@ o S-S/ NEN ] | Py FUR IR RS (JSCBA1-S)
2-G1/8. -4—94.5 Hols == 1.3.5-Port; u ~|
(z.p%{«)&% ole . L] iﬁ/( ort) ] S| g
i 15153 B 3 I F
6 ; 7 JJU“LH‘
ol v
|\J‘P of o 6.0
DO | |25
ik
2 Q:w:-‘?ﬁ-'“' = IBREANEN) DOUBLE MODULAR SUB BASE DIMENSION
: —] 6.5 B=[16.0n+11.0] 65 STATION (3
| A=[16.0n+24.0] ~1 G 5 G
] 790 seci/s peisg1e0 8 | 430 | 750 |107.0 | 1390 | 1710
{ A e T T T s
—1
.99 93
[immiliniini| VN IEE
65 8=(16.0n+8.0) 6.5 P=16.0 18.5 -
A=(16.0n+21.0) @ @ @ A
o i i peso| | 280 | 4 -
L] . [ RRS e TE
SPORTMANIFOLD BLOCKOIMENSION om0 Manifold Block Dimension
o] 2[4 [e e[ a8
B | 400 | 720 | 1000 | 136.0 | 1680 M50 s g (1.3-Port) Ordering Code 7 3¢ Ordering Code i ¢ 5
A |30 | ss0 | 117.0 [ 1400 [ 1810 (2-Port) 1 K JSCB36-BLK JSCB36-BLK
P 5 ! ° el 836;?«“ Sanking Plate Fvblaa::ir:‘aglplg‘ressozt)
lanking Plate
JPORT WANIFOLD BLOCKDIMENSION R $‘( e}c e‘( 4| 3 0 < (Mater;le. :Tfaoozy bt
NNEEERE s | 10 :{ I | " Manifold Gasket ’é’ o> Manifold Gasket
5 | 400 | 720 [ 1040 [ 136.0 | 1680 65 B=(16.01+6.0) 6.5 |1z <> - “fa"“;.a‘ ifgs) Base Gasket
A=(16.00+21.0) 71.0 Manifold Gasket (Material:NBR)
A | 530 | 850 | 117.0 | 149.0 | 181.0 NBR NBR

[Poge> @)



JSCE4OO 1/4 Series

Solenoid / Pneumatic Valvesh /< 5 &

05/2, 5/3-1/4,3/2-1/8 [O18mm Body Width(18mm A{K3EE) OManifold or Sub-Base Type (RE%R %)

JSCE433D-F5-P-SM1—»x
2 4

JSCEP411D-F5

2 4

315

JSCE411B-B-P-SD1-#*

AN

13

JSCE461D-F-P-SL1-**
2

[OHigh Efficiency, Expense Reduction Type (fi{ fl, 1= g 8Y)

JSC400-F5
5Port G1/4 Bottom Port Plate
5 G1/4

D
0
)
s

Q/

JSC400-FC5

5-Port ® 8 One-Touch Fitting
3

JSC300-E
External Plate

JSC400-F3
315 3Port G1/4 Bottom Port Plate 3-Port ® 8 One-Touch Fitting
315 G1/ 4 8
The specification on each item can be amended without any prenotice to improve a performance.
Vot Select The specification on each item can be different from actual specification.
*% . Voltage Selection %+ :
Transition Capacity Graph 44K The Material of Parts {444 )i
2000 m Valve Body : Die-Cast Aluminium L]
= 1600 — —] ® Spool : Aluminium ]
E 1200 — | | l.- m Seals : NBR n NBR
= 800 = [ Lot H m Spring : Stainless n
G 400 S e Ll il Toaeee m Cap : Zinc Pressure Die-Cast L]
0 T 1] m Pilot Parts : Glass Filled Nylon u
1 2 3 4 5 6 7 8 9 10 ® Armature : Stainless Steel u
P ) (bar) ® Armature Seals : Viton L] Viton
ressure 5. ar
ORDERING CODE ] /8%
- - D4

JSCE4 1 1

D -

FS5

SC1 -

| |
o |
Function Return Method Port Type

i EVES O

|
|
Manual Operator
E

Valv ries Port Plate <3 Thread Solenoid Coil Type Connector Type Voltage
2] e AR R B 1S R R
JSCE4: 1 [ si2single #%H 0 [ None % D | Manifold rifi:fi 0 [None 0 | Nowe 0 | oo 0 |None 0 | None £
Solenoid Vallve 2 | 5/2Double X% 1 | Air+Spring “(+#% B ‘ Sub-Base F5 | 5-PortG1/4 P | Push SC1 | 3Pin Connector Cail DIN CN1 | Normal Connector A2 | AC 220V
Non-Locki
HLR 3 | 5/3Closed Center 15t 2 | Air <t F3 |3-PortG1/4 _ | fortoct SG1 | Grommet Flying Leads CD1 | Comnnector With LED A1 | AV 110V
— L | tever Locking _
4 | 5/3Exhaust Center ikt 3 | Spring 3% FN5| 5-Port NPT1/4 Grommet [Flying Leads Comnector With LED A4 | AC 24V
JSCEP4: xhaust Center 'l pring # i SD1 With LED ez & Surge Suppressor —
Pneumatic Valve 5 | 5/3 Pressure Center i /i 5t FN3| 3-Port NPT1/4 D4 | DC 24V
3 5-Port ©8 One-Touch Fitting 90 Degree Plug-in
1B 6 | 3/2 Normally Closed FC5 - SL1 Wire Assembly With LED D2 | bC12v
7 | 3/2 Normally Open Fc 3| 3-Port ©8 One-Touch Fitting 90
I 180 Degree Plug-n
E |External End Plate, SM1| i Assembly With LED
Plate M5X0.8 180

1D

G‘ﬁu;
‘q | ‘

SPECIFICATION #if%

JISP

SERIES SOLENOID, PNEUMATIC
ITEM 5 H FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?)-5bar 16.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 25 ms 35ms or Less 35 ms
Max. Working Frequency 5c/sec 5/ 3c/sec 3/
Lubrication Not Required (Use I1SO VG32#) ( I SO VG332 )
Manual Override Push Button( Standard), Lever Lock(Option) ) ( )

Coil Insulation Class

F-Class or Equivalent F

Permissible Voltage Variation

+10% of Rated Voltage

Power Consumption

AC:3.5VA(60Hz)/DC2.5W

5Port 2Position Solenoid Valve (Manifold)
511240 R (ELHEALE)
Single Solenoid #.4; 4

JSCE411D-F5-P-SG1-** o
2 4 :
315 (Monifold Hole)
THT T -‘\ T
EE o
NEEM ‘ ‘ . E
il 7 i
' —M‘M‘ 2-M4x0.7 DP$.0(back)
16.2
J
o
5 2-G1/8(3,5-Port)
W a1/40—Port)
Double Solenoid 154.0

JSCE420D-F5-P-SM1—*x

viipa B e i
315 “ b L,H—F i

= RNIIVA

5Port 2Position Solen
5171247 HL T I O P
Single Solenoid #.2: 4

JSCE4118-0-P-SC1-CN1-*
2 4

SRVIIVA.

315

XNkl max10.0

oid Valve (Sub-Base)
) 520

t‘gﬁ@
3 |

!

2-94.2 Hole

JSCEP411D-F5
2 4

ATz
315

Single Pneumatic #.3%

5Port 2Position Pneumatic Valve

(Manifold Hole)
120.0 mox10.0 E - —
| Single Pneumatic #3% bl
JSCEP4118 L 780 |
s mmy < 2 4
1M IHpesh
BB 315

JSCEP420D-F5
2 4

Double Solenoid |
External Pilot fif

grg M
D 315

Double Pneumatic X3k ‘¢
|
.

5Port 3Position Solenoid Valve (Manifold)
5134 LRI (FLERCE)

Closed Center fi# s
JSCE433D-F5-P-SL1-+x
2 4

315
Exhaust Center filts,
JSCE443D-F5-P-SL1—**
2 4

.
ol
!
38.0

315
Pressure Center‘[lAEf( 175.0 \
JSCEA53D-F5-P-SLI-x+

s AVIESEHIYA.

315

3Port 2Position Solenoid Valve (Manifold)
324 LRI (AR

Single Solenoid ## |
JSCE461D-F-P-SM1-*x
2

315 g

5Port 3Position Solenoid Valve (Sub-Base)
5 FI 347 HL TR I (R e LA

Closed Center Hi#

JSCE438B-0-P-SC1-ON1—+

mox10.0 182.5 mgx10.0

5Port 3Position Pneumatic Valve

53BN
Closed Center
JSCEP4338 82.0
2 4 [ |
7§wr M
315
Exhaust Center ‘ ‘
JSCEP443B8 98.0

315 |

Exhaust Center sfijft{;
JSCE4438-0-P-SC1-CNi—+x

315
Pressure Center f1/f{
JSCEA4538-0-P-SC1-CN1-x

2 4
ST P
315
Pressure Center

JSCEP4538

2 4
SN
315

3Port 2Position Pneumatic Valve

320 254
Single Pneumatic #3% | iyl
JSCEP461D =
: CE ﬁ*@ Tt
(3.9 23.5

AT
13

Crage> PN



JSCESOO 3/8 Series

Solenoid / Pneumatic Valvest it /= 5 &

JSCE4OO 1/4 Series

Solenoid / Pneumatic Valvest i /< 5 1]

Manifold Ordering Code

JSCB40 SINGLE, DOUBLE MANIFOLD BLOCK
JSCBAO i, 271 %2 JSCB4 1 - D - Mo4

(JSCE400 Solenoid & Pneumatic Valve Use) ’—1 ’—1 \—‘
JSC400 Hif. “{Ehi \—‘

Manifold Block Dimension JSCB4 0 | None 0 |Nonei MO02 [ 2-Station fi
i Bl 1 e e
Double Modular 2 | NPT W AT F s MOB |6Staon It
Manifold Block Dimension D Manifold, Port 1/4 [&:f11/4 MO8 | 8-Station fi:
%{j*ﬁiﬁ%{hi‘i”&%){ﬁl&i DB Double Modular Manifold Block, M10 | 10-Station fii

1/4 Port ZHMLLAEN, Fr14
DC8 Double Modular Manifold Block,

JSCB40-BLK P=19.0_21.0
Blanking Plate 1

® — 8 Fﬂwmng
BRBEMEER, 08
et D3 | Manifold, Port /8 (3/2Way)
200 R, HHE/8(213)
150/ 6-gi1/a
4-a4.3|Hole (1,3,5—Port)
i 9l - =
E% g e e e/ & A @ = - Single Station Sub Base
T | 4 | - .
® é | J B 8 Dimension(JSCB41-S)
3 o i g -
‘ @ ‘ o1 o A AR T (JSCB41-S)
[N ‘ o - o
i s o L ERPLPLP |13 3
4.3 Hole |, R 2
< 17.0,
i 38.0
95.0
9 ®
S
it DOUBLE MODULAR SUB BASE DIMENSION 2-M4x0.7 . . . . N N
f:[[wjg::;;‘y] 65 SN0 - Port Plate Ordering Code (Material:Zinc) 4 #3945
/. - e Q 2 4 6 8 10
2n-G1/4 P=19.014.3
(2a—ror) 8 | 490 | 870 | 1250 | 1630 | 2010
" [ oz0 | 1000 | 130 1760 | 2160 @ @
o ol oo o
DD c, g EEE
P=19.0_20.0 A A 2 R JSC500-F5 JSC500-FC5 JSC500-B
! @ @ @ @) = 5Port G1/4 Bottom Port Plate 5Port ® 10 One-Touch Fitting Blanking plate
AN 777 ] 5 G1/4 5 @10
6.5 6.5 E o 287 N -
A=(19.0n+21.0) - (LN 5,01/4L . _pod_ S
H H H (1,2,3,4,5-Port) o v/
sroRTMANFOLDBLOCKDMENSON Manifold Block Dimension \,a =
iyl TeSTATON (80 L
o 2[4 [e el /e Y 2-04.5 bote 6-c1/8 o o JSCES11B-F=P=SC2-CNe—»> JSC500-F3 JSC500-FC3 soeoot
2-Port - (1,3-Port) Ordering Code il 1% Ordering Code iT 141t % 3Port G1/4 Bottom Port Plate 3Port ® 10 One-Touch Fitting
i 46.0 | 840 | 1220 | 1600 | 198.0 (2-Por! | @\ 8\ = °r JSCB46-BLK JSCB46-BLK m JSCESJ;WB{?L?SCZ?CNZ?" 3 61/4 3 @10 o 08
59.0 | 970 | 1350 | 173.0 | 2110 " Blanking Plate 315
Blanking Pl
{féﬁ é rE EE (eria - ST5304) o (e sTS00) AT
ORT MANIFOLD BLOCK DIMENSION el | N Pl ifi i i i i i
o STATION 40 ¢ Te Te |d 5 i STS304 S Wanit ‘dsg 5k3‘0 4 315 Py The specification on each item can be amended without any prenotice to improve a performance.
N R Lh a > HanioldSaskel Base Gasket «x : Voltage Selection ++ : The specification on each item can be different from actual specification.
o [ o0 | sr0 1220 |00 | 1ee0 o pancryn) s 2o (Material : N&R) - (Miateria:NeR)

A | 590 | 970 [1350 [173.0 | 2110

B=(15.0n+21.0)

Transition Capacity Graph i i i1 2 4] The Material of Parts {444 i

4000

3500 m Valve Body : Die-Cast Aluminium L]

3000 — —— m Spool : Aluminium L]
T 2500 s e m Seals : NBR L NBR
£ 2000 — = . .
= 1500 ® Spring : Stainless L]
1000 I . :@3/2 [ m Cap : Zinc Pressure Die-Cast ]

500 =1~ i i i i ] m Pilot Parts : Glass Filled Nylon u

0 ® Armature : Stainless Steel u
1 2 3 4 5 6 7 8 9 10 m Armature Seals : Viton ] Viton
Pressure FfkJj (bar)

ORDERING CODE I 41t 5

JSCES 1 1 B - F - P - SC2 - CN2 - D4

| | |
‘ \—\ \—\ I I \—\ \—\ \—\
Valve Series Function Return Method Port Type Port Plate = Thread |l Manual Operator Solenoid Coil Type Connector Type Voltage
1) #51 e S R #EOBR fidalo B kg £ 7 X R i [l
F | G38 0 0 0

I
None % D ‘ Manifold ri None None 0 None

JSCES5: 1 |si2single .40 0 None
Solenoid Valve i 2 |s/2Double Wi 1 | Air+Spring “(+3i % B ‘ Sub-Base i/Efis  FN | NPT3/8 P | PushNon-Locking  SC2 | 3 Pin Connector Coil DIN CN2 | Normal Connector A2 | AC 220v
3 |5/3Closed Center ifst 2 | Air % FC | 210 One-Touch R re— SG2| Grommet Fiying Leads CD2 | Comnector With LED A1 | AV 110V
ever Locking
JSCEP5: 4 | 5/3Exhaust Center il 3 | Spring st i Fitting SD2 | Grommet /Flying Leads CZz2 | Comnector With LED A4 | AC 24V
M - - With LED & Surge Suppressor T
Pneumatic Valve <z 5 | 5/3 Pressure Center f: Jii s B | Blanking End Plate D4 | DC24v
6 | 3/2 Normally Closed g | ExternalEndPlate, D2 | DC 12V
Plate M5X0.8 —_—
7 | 312 Normally Open

{&E)) >Page [ Page> (ELY)



JSCESOO 3/8 Series

= ]
Solenoid / Pneumatic Valvestifit /<5 & ; JIS P

05/2, 5/3-1/4,3/2-3/8 [26um Body Width (26mn &K% E) OSub-Base or Manifold Mounting Type (EEESLMIN% %) OHigh Efficiency, Expense Reduction Type (i F, T 4055 (8 BY)

SPECIFICATION #it% JSCB50 S|NGLE, DOUBLE MANIFOLD BLOCK Manifold Ordering Code

S L Vi 2
SERIES SOLENOID, PNEUMATIC JSCB50 Hi, 224 [RIMR 22 % Jscas N . -
ITEM % FUNCTION 5, 3Port 2Position 5, 23 5 Port 3 Position 5 3 (JSCE500 Solenoid & Pneumatic Valve Use) | |
SCE500 Hifi. “Bh i
Fluids Compressed Air ! s Function Jhf Manifold Station {1
i A H JSCBS 0 | None 0 None MO2 | 2-Station {if
Pressure(bar) 1.5~10.0 2.0~10.0 !V!anlfqlq Block Dimension JSCES0 ok ahe 1~ s [ Singls Station SubBase, M0 | 4-station 1
0 30.0 LU 3 f JBFCKBSO»;\?LK Double Modular — 2 | NPT %’l? ﬁ?@}g‘?‘ﬁ‘?”?"?&f““ MO6 | 6-Station fi’
. 2\ 40. . ; /anking Plate | . ARS8, AN - 7
Eff. Sectional Area(mm')-5bar SenknePae et Sub Base Dimension D | Manifold. Port 3/8 [i:1113)8 M08 | 8-Station fi
) ) o s iyl :
Ambient & Fluid Temp. 5~60°C(41~140°F) ?éﬂ’fﬁf}jfix%tﬁﬂ D8 | Double Modular Sub Base, 10 | 10-station
N o - : D RAEIBEL, AT
Response Time(5bar) 25ms or Less 25msEl/b T 35ms or Less 35mss/bT ﬂfﬂ [ B ¢ 10| Double Modular Sub Base,
Max. Working Frequency 5¢/sec bIK/F 3c/sec 3U/B | 10 Fiting # yigko 10 4k
= E End Cover,3/8 Port Jiiif, 3/8f:11
Lubrication Not Required (Use ISO VG32#) ( SO VG32 ) was+ (0 [o-ons e EB_| End Blanking Cover FRH
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( ) P~ W@Jﬁ‘ﬁ= g
Coil Insulation Class F-Class or Equivalent F g CD@’L 3
Permissible Voltage Variation +10% of Rated Voltage % @L@N@f ng\ﬂfjj__@ = e4 3 : DOUBLENODULAR SUB BASEDENSION,
E L = A S T [+ [+ [ [0
Power Consumption AC:5.5VA(60Hz)/DC2.5W T[] S N e
&) I s * |10 | 1450 | 1990 | 2550 | 5070
48.6
i
4.0 B=(27.0n+29.0) Ordering Code iJ i ft
A=(27.0n+37.0) JSCB36-BLK
5Port 2Position Solenoid Valve (Manifold) 5Port 2Position Solenoid Valve (Sub-Base) 5Port 2Position Pneumatic Valve e R @ :E!h\l‘aar:l:rr‘\:lP\;tfsmA)
SR2Areaik R (HEEH) SR (REFERCER) Rl Sty MFOLD BLOCK DIMENSION, 110yt » <= Marifo oot
i v O S i !
) NN i id s _ ole Single Pneumatic #.% |p=27.0|_27.0 | 200 EEE s 8 10 NN 7aNTra (Material :NBR)
Single Solenoid i 418 o S kel mg mo | Eer Prassdie ol egmemetey)  wLLELEILe | |LXOHORD S == L
SCE511D-B-P-SD2-+ . X 045 Hoe 4 (2750428, " L —
J o ‘3;5 56.0 {Manifold Hole) 2 4 EI :Jﬁ Sl s < ] A=(27.5n+28.5) Aznaas 138.5 | 193.5 | 2485 | 3035 ol A \ A - ] ?Srie;s?gcde TG
EE B m o . . ’ n-G3/ o ) s
nl k= e e s e 9 Single Station e g ™ e > End Cover.38
Push|Button Override [ Sub Base Dlmensw ] WL ] \ 2 . 0 (Material:Al)
Lever|Locking o\/errme\mrﬁ» ‘@_@ PO JECJRE R~ =<9 [ j g A
j: i ﬂ g -
s | g . _ = fa
Eﬂgr ‘ME 1030 TS e b o C o d o 3 Ordering Code i 1t 1 Ordering Code 1141t 75 Ordering Code i1 11t 15
il \: 3| @ I: b NI g JSCBSUVDO Double Modular JSCB(H-DB JSCB51-EB
ﬁ I: o Sub Base €10 Double Modular End Blanking
[ one-touch fitting Sub Base,3/8 Cover
141.5 == ®10 3/8 (Material:Al)
Single Pneurnatic #% sose T ¢ (Material:Al) (Material:Al)
JSCEP5118-8 g (12.3.45-Port) 2-M4x0.7 DPBO
2 4
IIVARS KX
max10.0 205.0 max10.0 315
N ‘ ‘ ‘ 103.0
o o vse0s —
2 Double Solenoid @ - ﬁ
Double Solenoid & :Féq - ) 108.6

External Pilot 4hifist T o | & ) I
JSCE520B-F-P-8G2-++ JSCE520B-E-P-SC2-CN2—++ H}iiikﬂjg Double Pneumatic 3k ‘
2 4

2 4 JSCEP5208-F
2 4

A | wwe | dim | tes TGl %2

108.0
5Port 3Position Solenoid Valve (Manifold) 5Port 3Position Solenoid Valve (Sub-Base) 5Port 3Position Pneumatic Valve
5113 s R R ) 5130 LR (RS E) 53R
Closed Center i Closed Center Closed Center
JSCES338F ~P-SG2=r JSCE5338-8-P-SC2-CN2-+ JSCEP5328-8
o o 7% w0
s max10.0 218.0 mg‘ 10.0 —%me—w(} ‘

315

315

. !
Eggaggt Cents%rzwt@)k g L Exhaust Center Exhaust Center a
JSCES ?’rj” - i i JSCES438-8-P-5C2-CN2-r JSCEP5428-8
i | ul 0
/ SO | 09
315 ) 315 315 1330

PressurerCenter:P iy T e— Pressure Center Pressure Center

JECESEEB- ~P-5G2-x T JSCE5538-B-P-SC2-CN2-+ s JSCEP5528-8

2 4 ! 2 4
s RVIERAIVA. AT EanVIEIVASS
315

315

(o5 EIEED (P> C 1)



MEMO JSN (VAVRESERIEs

[1JSN3000
[1JSN4000




JSN3000. 1/4 NAMUR Series

Solenoid / Pneumatic Valvest it/ <z 1K

JISP

05/2, 5/3-1/4 [023mm Body Width (23mm A{KEE)
SPECIFICATION Hik%

SERIES SOLENOID, PNEUMATIC
ITEM %t H FUNCTION 5 Port 2Position 5 2 5 Port 3 Position 5 3
Fluids Compressed Air
Pressure(bar) 1.5~10.0 2.0~10.0
Eff. Sectional Area(mm?®)-5bar 18.0 12.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
Response Time(5bar) 25ms or Less 35ms or Less
Max. Working Frequency 8c/sec8 |/ 5c/sec 5 /
Lubrication Not Required (Use ISO VG32#) ( 1 SO VG32 )
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( )
Coil Insulation Class F-Class or Equivalent F
Permissible Voltage Variation +10% of Rated Voltage
JSNGBOB;IL‘;SCZ*CNZ*” Power Consumption AC:5.5VA(60Hz)/DC2.5W
315
s Sealing Part Dimension 3-Port Blanking Part 31143k Metal Connector(Material:ZnDc)
" 7 13
Ex-Proof Part piiit B (Material:Al) GRS (MR )
Metal Connector 4 Ji# 3k 3Port Blanking Part 3 -1y {1 MR
(Material: ZnDC) (Material: Al)
M mad ME: mae
) ®10.0 Hale #10.0 DP7.0 M5x0.8
o) | o Thread 1/2
AV PN At
CNM2 JSN3000-BLK { At g 9 \ Hd3s 4 93 o
AN e 1) [ = @]
The specification on each item can be amended without any prenotice to improve a performance. H L | 1 &J o B
The specification on each item can be different from actual specification. Ld u | &
21.0 4 = 240 __to. t t
24.0 3.5 700 32»052.0 0
Sealing Area SN3000-BLK Single Aoty Lse Plate oNM2
Transition Capacity Graph i 2[4 The Material of Parts {145 ERE SN3000-Plate
2000 |+ m Valve Body : Die-Cast Aluminium u
= 1600 = I ® Spool : Aluminium n
E 1200 — e m Seals : NBR u NBR
= 800 el I L h| m Spring : Stainless .
le] {ﬁ 17T o2 m Cap : Zinc Pressure Die-Cast ]
400 = s 1 m Pilot Parts : Glass Filled Nylon "
0 . i
1 > 3 2 5 P 7 8 o 10 m Armature : Stalnles§ Steel ] A
® Armature Seals : Viton L] Viton
Pressure Jk /) (bar)

ORDERING CODE i] {5

JSN3 1 0 1 - I P - SC2 - CN2 - A2

| \—\ \—\
i Connector Type Voltage
A 1 s
0

’_1 ‘ \ \ \ \ \
| | | |
Valve Series Function Port Plate <3 Thread f§ Return Method Int/Ext .Pilot Manual Operator
& 2 5] ) e B ELVES W/ S T3 fF
0

JSN3: 1 | 512 Single 4 & 0 ‘ G1/4 0 | None & | ‘ Internal Pilot None 0 None 0 None None
. 2 | 512 Double X% 1 ‘ NPT 1/4 1 | Air+Spring "+ i P | Push SC2 | 3Pin Connector Coil  CN2 | Normal Connector A2 | AC220V
Solenoid Valve ik Non-Locking DIN -
3 | 5/3 Closed Center tf'f{ 2 | Airi T Tioer oot e - cD2 | Connector With LED A1 | AV 110V
_— _— ever Locking 2 -
4 | 5/3 Exhaust Center 7t 5t 3 | Spring # ik Leads o cz2 | Connector With LED ~ Surge A4 | AC 24V
JSNP3: 5 | 513 Pressure Center #1714 §D2 | Grommet/Flying Suppressor D4 | DC2sv
P tic Valve “i2 i - Leads With LED
neumatic Valve “t3)i CNM2 | Metal Connector D2 | DC12v

CDM2 | Metal Connector With LED

CZM2 | Metal Connector With LED <3
Surge Suppressor

{G)) >Page [ Page> (@)



JSN3000. 1/4 NAMUR Series

5Port 2Position Solenoid Valve
5 120 H i 1
Single Solenoid .25

JSNB101-1L-SD2-
2 4

315

4-95.5 Hale

Solenoid / Pneumatic Valvest i/ <51

32.0

e ey —re e

c:.l J
& 2
<
d|
Lever Locking Override &l
or Manual Button 9|
2-95.5 DP3.5 \ f—
S|
D 1dy
i Y- i
ool
SEE B LL g%
AU
27.0 | 240 ‘
135.0
da [Ty AN I T T
7 [TY"P—HKE | il
16.5 45.0 3-G1/4(1,3,5-Port)
148.0 Thread 1/2
JSN3101-IL-SC2-CNM2-+* Lever Locking Override
or Manual Button 2
m 2-#55 DP3.5 m 7777777 g
315
IR, g
et o
195 B —H 3
2 TR @ R 4 |
270 | 240
135.0,
Double Solenoid £k 2185
JSN3200-IL-SC2-CNM2—**
T
315 ﬂ JE]L
&
7P
- (D () ]
RTAN S
‘ L |2 &b ¢ 1 ‘
191.5
5Port 3Position Solenoid Valve
SIRRIAEN A
Closed Center
JSN3308-1L-SC2-CNM2-+ 2215
2 4
£
AL AL
315
Exhaust Center B le
JSN3403-I1L-SC2-CNM2-=#* ~E @ B
2 e Yeouuui
ST AR N7\
T L | 2 TR @ R 4
Pressure Center
2045

JSN3503-IL-SC2-CNM2-x*

2 4
ST

OUEED

5Port 2Position Pneumatic Valve
5203

Single Pneumatic i3

JSNP3101

2 4
TANIIVARS
315

Double Pneumatic X3k
JSNP3200

2 4
iniyaxs
315

5Port 3Position Pneumatic Valve
SIRRITASEIlR)

Closed Center

JSNP3303

2 4
SO
315

Exhaust Center
JSNP3403
2 4

SN

315

Pressure Center
JSNP3503

2 4
SR

4-05.5 Hole

32.0

it

21.0

Nl _mh B e
I g

JSN4000. 1/4 NAMUR Series

Solenoid / Pneumatic Valvestfii/<.zh &

22.0

2-95.5 DP3.5

41.0

32.0

Ve
AN

:
A

32.5

23.0

10

27.0 ‘ 24.0
97.0

m{

16.5 45.0

3-61/4(1,3.5-Port)

o Vs
FAVZA)
A

I

115.0

cgﬁ; N

G1/8

&_\}\

T

Hll

The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

Transition Capacity Graph jifi|lliZk % The Material of Parts {4415
5000
2000 | P ® Valve Body : Die-Cast Aluminium L]
= e —n ‘ [ B Spool : Aluminium n
£ 3000 —— [ m Seals : NBR = NBR
~ | — L —|= 7 . .
Z 2000 — e == ® Spring : Stainless [ ]
S 1000 _ | —— T -1~ m Cap : Zinc Pressure Die-Cast u
—T | m Pilot Parts : Glass Filled Nylon L]
0 m Armature : Stainless Steel u
! 2 3 4 5 6 8 o 10 ® Armature Seals : Viton L] Viton
Pressure k1 (bar)

ORDERING CODE i {{ 5

Valve Series
8 % 51

JSN4 1

o 1

P SC2 CN2 A2

\ \—\ \—\

JSN4:

Solenoid Valve #id

JSNP4:

Pneumatic Valve “(i

‘ \ \ \ \ \
\ \ \ \
Function Port Plate <3 Thread Return Method Int/Ext .Pilot Manual Operator § Solenoid Coil Type Connector Type
Yy fie B HBg LV ES W/ S TFa Ak BN IR
0 0

Voltage
[
0

1 [ s2snge utm 0 [e14 0 | None I [internal Pilot 0 o None None None
2 | 52 Double M 1 ‘ NPT 1/4 1 | Air+Spring "+ Push sC2 %m" Connector Coil  cN2 | Normal Connector A2 | AC 220V
3| 0 Closed Ceter 1410 2 | air | "MK 5G| Grommet/Flying CD2 | Connector With LED A1 | AVITOV
"4 | 5/5 Exhaust Center 1t "3 | Spring ## i Leads Cz2 | Connector With LED  Surge A4 | AC 24V
"5 | 513 Pressure Contertl FE & - SD2 | Grommet/Flying Suppressor D4 | bc2av
T Leads With LED CNM2 | Metal Connector D2 | pC12v
SP2 | 22mm CDM2 | Metal Connector With LED
SP3 | 36mm CZM2 | Metal Connector With LED =
ﬁiﬂimm Surge Suppressor

[ Page> (EFY



JSN4000. 1/4 NAMUR series
Solenoid / Pneumatic Valvestitii/ <5l 1%

05/2, 5/3-1/4 [O30mm Body Width (30mm ZA{KEE)

SPECIFICATION #if%

SERIES

SOLENOID, PNEUMATIC

ITEM 1 H FUNCTION

5, 3Port 2Position 5 , 23

5 Port 3 Position 5 3

5Port 2Position Solenoid Valve
5 12437 HL T I

Single Solenoid L4
JSN4101-IL-SD2~

Fluids Compressed Air m 9
Pressure(bar) 1.5~10.0 2.0~10.0 315
Eff.Section Area(mm?)-5bar 32.0 16.0
Ambient & Fluid Temp. 5~60°C(41~140°F) o
Response Time(5bar) 25ms or Less 25msEl/bT 35ms or Less 35msi/b T 18 9
Max.Working Frequency 5c/sec 5{/H 3c/sec 3R/BY g
Lubrication Not Required (Use I1SO VG32#) ( 1 SO VG32 ) m H
5
Manual Override Push Button( Standard), Lever Lock(Option) ( ) ( ) 4 o D\ ER
v 9 S y g
Coil Insulation Class F-Class or Equivalent F 54 | 0
Permissible Voltage Variation +10% of Rated Voltage
Power Consumption AC:5.5VA(60Hz)/DC2.5W
. . . . . . 3-G1/4(1,3,5-Part)
Sealing Part Dimension 3-Port Blanking Part 31171k Metal Connector(Material:ZnDc)
B RS (Material:Al) SRS (M BEG4)
M JSNA101-IL-5C-ChM2-+ Threod 1/2
o0 ﬂ%ﬂ]ﬂm - T =
, #10.0 Hole #10.0 DP7.0 M5x0.8 © g
I | @\ & Thread 1/2 ; o o N @9 gl
! o g 3 ———7—} o 9 9 %&——— of ~= 7 ST i @/4 s
ysy N NIEEE D9 — (&N > —
7 - s =1 Yy
21.0 4 ;4 u Double Solenoid ¥ &l
240 o 240 -~k 320 2.0 JSN4200-IL-SC2-CNM2—++
. 3.5 70.0 52.0 2 4

Sealing Area
X

(o3 EIEED

Single Acting Use Plate
SN3000-BLK #AF A

SN3000-Plate

CNM2

ANIIVA:

315

ISR

IS

o

5Port 3Position Solenoid Valve
5 1347 HL R I

Closed Center
JSN4303-IL-SC2-CNM2-**

2 4
SR

Exhaust Center —

JSN4403-IL-SC2-CNM2-*x

2 4 o
S

315 ‘

Pressure Center

SR

™

JSN4503-IL-SC2-CNM2~**

2 4
SR
315

5Port 2Position
51020, 3SR

Single Pneumatic #3.

JIS~

3Position Pneumatic Valve

~

—5.5 DP3.5

JSNZPAJOI < &
44 L@ ||
CAVIIVARS LIRS N2
315 Lo °
‘ 30.0 24.0
103.0
97.0
G1/8
o Y 7(
ea Ten (-
1.0 50.0 3-61/4(1,3,5-Port)
Double Pi tic Xk ] LN ]
ouble Pneumatic %3k /
A @ﬁ
JSNP4200
2 4 L z\;?{g;jzt |
¥ ;; E{F | 110.0 ‘
315 123.0(137.0)
()3Position 3
5Port 2Position Ex-proof Solenoid Valve
10 o e B i
DD%\LW‘J‘@SW@WZJ 250 0.0
==y =
) of m —H 3
Single Solenoid i3k & g 1 3
JSN4101-IP-SP2—s+
24 153.0
315
2-95.5 DP3.5
© 9
o o I@NZ%
EE \&
Lo oo °
30.0 24.0
141.5
25.0 _10.0 o
JSN4101-IP-SP3-** B
2 4 EHTH =
AN T i <
315 R U 2 i 3
2-95.5 DP3.5.
& & 3
o o IENZ% E
RIS N2 E
toog f -
30.0 24.0
141.5
250 _10.0
JSN4101-IP-SPT3xx EHTE ‘ T
2 4 3 et E
& ([l F@ N
315 153.0
_3,000410,0
|
2-95.5 DP3.5. jE
&% E
Jdd 1 Bld 3
E NZN ¥ =
oo d ! ——
30.0 24.0
141.5

=5



Solenoid Coil Series
4% 18 51

O15mm Coil Width (15mm ZEEE) 022mm Coil Width (22nm & EEE)

SPECIFICATION #ii%

FUNCTION

SOLENOID COIL #

ITEM

SC1 SC2

Voltage Tolerances i % i [l

+110% of Rated Voltage #i: i

Coil Insulation Class £k [l {45 %

SC1-*x

F-Class or Equivalent F£g i3

IP65(with Connector)

e ) Temperature Range i i it [ 5~60°C(41~140°F)
SC2-%%
::ggéwnh Con)necwr) 60Hz 3.5VA 5.5VA
) AC
Holding Power 50Hz 4.5VA 6.5VA
¥ : :
DC 2.5W 2.5W

JISP

= Molding : Glass Pressure Nylon
= Lead Wire : AWG-n0.22,n0.24
s Lead Wire Packing : Viton

= Yoke : Carbon Iron

= Indicator Cap : Polycarbonate

The Material of Parts i1+

TR NN YA

» $4: AWG-no.22,n0.24
= P E: Viton

w J BN

s FEE: REF

SD1-#+

P42

Indicator:LED
LED

Indicator:LED
LED

SL1-#x

1P42

Indicator:LED
LED

SM1-%%

1P42

Indicator:LED
LED

*: Voltage Selection

ORDERING CODE iJ 5t &

SC1 - A2

Solenoid Coil Type Voltage
ELREN i3

SC1 | 15mm-3 Pin Connector Coil DIN A2 AC 220V
SG1 | 15mm-Connector /Flying Leads A1 AV 110V
SD1 | 15mm-Connector /Flying Leads With LED A4 AC 24V
SL1 | 15mm-90 Degree Plug-in Wire Assembly LED D4 DC 24V
SM1 | 15mm-180 Degree Plug-in Wire Assembly LED D2 DC 12v

SC2 | 22mm-3 Pin Connector Coil DIN
SG2 | 22mm-Grommet/Flying Leads
SD2 | 22mm-Grommet/Flying Leads With LED

(&b >Page ]

The specification on each item can be amended without any prenotice to improve a performance.
The specification on each item can be different from actual specification.

SC1-%* SC2-**
(3Pin Connector Coil) U30.5 (3Pin Connector Coil) U305
DI N — DI N ;} 1 9
H# o ¢
[J;[M/¢7.9 Hole ‘ 7.1 Hole H(WH H m
2- 91.5 DP1.0 26.0 150 22.0 \09.0 Hole 29.5 8.1 Hole
SG1- SG2-**
(Grommet/Flying Leads) (Grommet/Flying Leads)
2-91.4 i %T i
il i 38 )
%%/*wﬂg Hole : ‘ #7.1 Hole {
3 F 777777 g 4 9
RS “ WiV B *
_ 26.0 15.0
2—-91.5 DP1.0 22.0 \as_o Hole 29.5 8.1 Hole

SD1-++ SD2- %+
(180 Degree Plug-in Wire Assembly LED) (Grommet/Flying Leads With LED)
180 R
E W g
2-91.4 g ﬁﬂ <
26.0 22.0 \ws.o Hole 29.5
SL1-#+

(90 Degree Plug-in Wire Assembly LED)
90

/w 9 Hale

‘ 15.0
28.5
22.0

#7.1 Hole

335

2-¢1.5 DP1.0

SM1-+=

(180 Degree Plug-in Wire Assembly LED)

180

/17.9 Hole

% 0
31.2
285

22.0

©)
il

2-91.5 DP1.0

7.1 Hole

[ Page> (@l



DIN Connector Series

O15mm Coil Width (15mm ZE 3 E) 0J22mm Coil Width (22mm % B % E)

JISP

SPECIFICATION i oN CN2
FUNCTION Connector #4 ft (Normal Connector) ¥ 4k i (Normal Connector) i 4 £
CD2- +»
ITEM CN1 CN2 CD1-x .
(Connector With LED) 4 fi: % i 4 (Connector With LED) 43k 2k
Voltage Tolerances i i 2 % +110% of Rated Voltage #isi 1 )i 1 CZ2- ++
Temperature Range ifi J% it 5~60°C(41~140°F) (Connector With LED <3 Surge Suppressor) (Connector With Connector <3 Surge Suppressor)
) M 3 5
Max. Current it kit 2.5A AT 58 B LT PR R
Protection Class &4 % % IP65(With Coil) E@
Section Conductance 4 i ifii Maxii £.0.75mm? Maxiz k.1.50mm?
40.7 max10.0
The Material of Parts {4 )i 2.0 max10.0 —
4 s vl
= Indicator :Glass Pressure Nylon, Polycarbonate = i ,EIE, 3 i FT = = !
= Sealing Packing: NBR - NBR [D b g 3 | s ‘
= Jointing Bolt: Carbon Iron = LJJ lh
15.5 20.5
M3X0.5
The specification on each item can be amended without any prenotice to improve a performance. g]: | _
The specification on each item can be different from actual specification. !
CNM2
Metal Connector i 4% 4 4
CDM2- *»
Metal Connector With LED 4 3 #5: 2k £
CZM2- =
Metal Connector With LED <3 Surge Suppressor
CZ1-#% Cz2-%x KT 2k A I TR AR
*%: Voltage Selection ,Q\ | ; Threed 1/2
} 1:, 2 @X J
1 N o
i 5
'4\ i
M3XP.5 24.0
32.0
52.0
ORDERING CODE il 4t % ]

Connector Type Voltage i i

CN1 | 15mm-3 Pin Normal Connector DIN A2 AC 220V
CD1 |15mm-3 Pin Connector With LED DIN A1 AV 110V
CZz1 | 15mm-3 Pin Connector With LED <Surge Suppressor DIN A4 AC 24V
D4 DC 24V
CN2  |22mm-3 Pin Normal Connector DIN D2 DC 12V

CD2 | 22mm-3 Pin Connector With LED DIN

CZ2 | 22mm-3 Pin Connector With LED «3Surge Suppressor DIN
CNM2 | 24mm-3 Pin Metal Normal Connector DIN

CDM2 | 24mm-3 Pin Metal Connector With LED DIN

CZM2 | 24mm-3 Pin Metal Connector With LED <3 Surge Suppressor
DIN

(o7 XL [ Page> (@1



MEMO

ISR B S I A
JIEMVSIS LMY Series

JMV Series
(3/2 Mechanically Valve)

(312 )

JHLV Series
(5/2, 5/3, 3/2 Hand Lever Operated Spool Valve)
(5/2,5/3,3/2 )

JPMEYV Series
(5/2,3/2 Panel Mounted Mechanically Valve)
(512,312 )

JRVL Series JKMV Series JTMV Series
: (5/2, 3/2 Knob push/ (5/2, 3/2 Toggle lever
((55//22%;32/2 Roller Leve)r Mechanically Valve) Pull Manually Valve) Mechanically Valve)

(5/2,3/12 ) (5/2,3/2 )




JMV Series

Manually & Mechanically -z &1 ik &

JISP

00 3/2 O Direct Operation Type (E# %) O Simple Panel Mounting (&2 5 #)

ik 3/2-Way,Direct Pushrod Operation #1fT i{ o - = 3/2-Way,Direct Pushrod Operation 1Tt T - =
S P E C I F I CATI O N )_‘ % Thread-1/8 #11: 1/8 1| Valid Operation Dist .5mm Thread-1/4 #:11. 1/4 1| Valid Operation Dist .5mm
T2 | InValid Operation Dist 1.0mm T2 | InValid Operation Dist 1.0mm
SERIES JMV310 ‘ JMV410 F1 | Pressure for Vilid Operation 3.5k F1 | Pressure for Valid Operation 3.5
.5kg -okg
F2 | Pressure for InValid Operation F2 | Pressure for InValid Operation
ITEM 5 H FUNCTION 3/2-Way P p
. . JMV310-PU JMV410-PU
Fluids Compressed Air oot oot
MV310-17P Port Size 1/8 ‘ 1/4 N@ED RE NG
NC RO Pressure(bar) 0~8.0
Eff.Sectional Area(mm?®)-5bar 10.5 ‘ 16.0
27.0
Ambient & Fluid Temp. 5~60°C(41~140°F) .
ot Not Required(Use ISO VG32 # £
Lubrication (_ 150 VG3Z#)
. . . . . . 980 X
JMV310-MS-3 Transition Capacity Graph jiti i 2k |4 ° N 5.5 s
out s [ : | o
1600 L : m] ‘ i
NC NO ! i 7S‘ 3-G1/8 f “‘f
1400 g B | T s iy A
3 o fal 3 ‘ g 9 g é® a9
I s
a 1200 = IMV410 = 18 S (S i o
S D — . 4—04.4 25.0 30.0
\/ < 1000 1] JMV310 L 250 w‘ 554/ | 1500
£ L1
= 800 —
= |1 | .+ 1
600 F . . . :
JMV410-PU JMV410-1RP // L 3/2-Way,Direct Roller Lever Operation JMV310-1RP | JMV310-2RP 3/2-Way,Direct Roller Lever Operation JMVA10-1RP | JMV410-2RP
ouT out 400 T - WEFLAF R T |Valid Operation Dist 85mm | 9.0mm VEEATFF R T+ |Valid Operation Dist 80mm | 9.0mm
NENG e T Thread-1/8 #11: 1/8 T2 {InValig Operation Dist 30mm | 3.5mm Thread-1/4 #%171: 1/4 T2 {InValid Operation Dist 30mm | 3.5mm
200 -
Pr Ve Pr for Vali
F 1 |Pressure for Valid Operation 206 206 F |Pressure for Valid Operation 206 206
0 F2 |Pressure for InValid Operafion F2 |Pressure for InValid Operation
1 2 3 4 5 6 7 8
Pressure JEJj (bar)
JMV310-1RP JMV310-2RP JMV410-1RP JMV410-2RP
JMV310-1RB JMV310-2RB JMV410-1RB JMV410-2RB
ouT ouT ouT out
The Material of Parts #i{-#4 /it EaN EAN EAN EaN
JIMV410-SL-3 JMV410-MS-3 JMV410-MT-3 X -
. ouT out . ouT = Valve Body : Die-Cast Aluminium .
%NE;NO = N@D:D:D % = Spool : Aluminium .
= Seals: NBR - NBR 625
55.0 55.0
= Spring : Stainless . 542 R29. 54.2 R29.5—~
017.0
= Button Parts : Stainless Steel, POM - POM |25, [£2:5, [
=
Switch Parts : Glass Filled Nylon, P
= ylon, POM . POM o g% N o ﬁ% - J
| - ﬂ,, S o | - ﬂ/, ol o o =
E (=) B o 3-61/4 ") 5|
o LJ e ® e ® i 9 I B o1 7
1o 9 g | E AT ﬁr N g |
AL A e El/aE: § arn § 3
4-04.4 ‘ 25.0 4-04.4 25.0, o 3-95.4 30.0 3-95.4
35.3 5.5 wl 40.0
3/2-Way,Direct & Pushrod Selector Operation 15 3/2-Way,Direct & Pushrod Selector Operation ¢4
Thread-1/8 #%11: 1/8 Thread-1/4 #11: 1/4
JMV310-FP-3 JMV310-SL-3  JMV310-MS-3  JMV310-MT-3 JMV410-FP-3 JMVA10-SL-3  JMV410-MS-3  JMV410-MT-3
ouT ouT QuT ouT. ouT. ouT ouT outr
JMV3 1 0 - FP - 3 _ RN/ AN RAN MR AV e B w B v At v N v
T | Velid Operation Dist 5.5MM  Flush . Push Button 2-Position Selector  Dia Spring Return Turn to unlock Ty e 5.5mm  Fiuh  push Button 2-Position Selector  Dia Spring Return Turn to unlock
- - o] i FFSINL el 3 n el REH PR AL LiqmEE
T InValid Operation Dist 1.0mm T InValid Operation Dist 1.0mm
‘ ‘ ’—1 \—‘ ‘ F Pressure for Valid Operation . i L Fr Pressure for Valid Operation . ﬁ\ ] 7
Valve Series Function Port Size Thread Switch Type Mounting Holes E Pressure for InVaiid Operation| 9 C ; /E @; E Pressure for InValid Operation| 9 \J,/ B ki
18 % 51 ik g JFRER " AL 2 & == z 70
% 37.0 X
JMV3: 1 [ 3/2 - Spring Return o |G PU | Pushrod 3 [ 3omm e oo >
. 1 ‘ NPT 1RP | Two-way Plastic Roller Lever 935.0
1/8-Port Body - #33.0
18 1RB | Two-way Bearing Roller Lever "—‘1 ;‘
JMV4: 2RP | One-way Plast.ic Roller Lever o s
1/4-Port Body 2RB | One-way Bearing Roller Lever o o g o
114 FP | Flush,Push ButtonR) () A% | o 3 E ; q o g 3
— 2ol 5 7 (=) i gl - b= b=
SL | 2-Position Selector(B) ) SR o PNEm
MS | Mushroom 40mm dia Spring Return(R) é} b Ql U il* ‘ ; o
40mm > g Y
MT | Mushroom 40mm dia Turn to Unlock(R) ‘ - ! @
40mm () 3-85.4 ‘ 30.0 ‘
() Standard Color ( ) 40.0

QoUEED [ Page> @b



JPMEV Series

Panel Mounting Mechanically Valvestit 2z HLig i

JISP

05/2,3/2-M5,1/8,1/4 [ A Wide Range of Option Available §FSEE ") O Direct Operation Type (H#E#N{E) O Simple Panel Mounting ({5 B8 5#&1E)

SPECIFICATION #ik&% 5/2-Way, Pushrod & Selector Operation Jiit §% i # X Ht: £ S 1 ik 3/2-Way, Pushrod & Selector Operation Jiie % ik £ 5 Hfi bt 2 ] ik
Thread-M5X 0.8 #11: M5x0.8 Thread-M5X0.8 #%11: M5x0.8
SERIES JPMEV100 ‘ JPMEV200 ‘ JPMEV400
OPERATION SPEC. OPERATION SPEC.
ITEM 5 H FUNCTION 5/2, 3/2-Way T+ | Vaid Operaton Dist 55mm  JPMEV110-FP-2 JPMEV1 13;3&2 JPMEV110-MS-2  JPMEV110-MT-2 T+ | Vaid Operation Dis 55mm  JPMEVI60-FP-2  JPMEV160-SL-2 JPMEV160-MS-2  JPMEV160-MT-2
2 4 2 4 2 4 ouT ouT ouT ouT
. . T2 | InVaild Operation Dist 1.0mm } ) T2 | InVaild Operation Dist 1.0mm ) )
Fluids Compressed Air . FENIIVAS® AN IVAS RN IVAS RN IVAS) AN b d N LA by d A T b
F1 | Pressure for Vaild Operation o 315 315 315 315 F1 | Pressure for Vaild Operation 5 NCNO NCNO NCNO NCNO
N Port Size M5 ‘ 1/8 ‘ 1/4 Fa [PessuetomiOueaton] 0 e e e ey oS Fo [PessuetrinanOpaton 0 e o e i oo e
JPMEVIT0-FP-2
( ) ) ( )« ) (
Nl Pressure(bar) 0~8.0 .
H 2 _ |
Eff.Sectional Area(mm?)-5bar 35 ‘ 126 ‘ 19.0 @5/% - @ o5 W@
Ambient & Fluid Temp. 5~60°C(41~140°F) Panel Hole Size -+ Panel Hole Size

OFE

it Not Required(Use ISO VG32#)
Lubrication ( | SO VG32#)
— 3
[T T
Transition Capacity Graph i & 2k % g 4
1600 e
1500
1400 || JPMEV400
1300 ——— .. —.. JPMEV200
1200 |———— — . JpPMEV100
—~ 1100 —
£ 1000 7
€ 900 =
= 800 =t
z égg T 5/2-Way, Pushrod & Selector Operation jig #% i 4% = 4t 4T 2 7] % 3/2-Way, Pushrod & Selector Operation ji %% % 4% 20 4 #F &% v 3%
g 500 I Thread-1/8 #:11: 1/8 Thread-1/8 #:11: 1/8
400 A
300 o — == OPERATION SPEC. OPERATION SPEC.
?gg il . == ] T _| Vald Operaton Dist 55MM  JpMEV210-FP-3  JPMEV210-SL-3 JPMEV210-MS-3  JPMEV210-MT-3 T+ | Vaild Operaton Dist 55MM  JPMEV260-FP-3 JPMEV260-SL-3  JPMEV260-MS-3 JPMEV260-MT-3
0 — T2 | Invaild Operation Dist 1.0mm 2 4 2 4 2 4 2 4 T2 | InVaild Operation Dist 1.0mm out out ouT ouT
1 2 3 4 5 6 7 8 F1 | Pressure for Vaild Operation NJT\XH/T}_D %T\lH/TH NJT\HL/H_D %;\HI/T}—D F 1| Pressure for Vaild Operation NJT\ H *}_D ‘5#*\ H TH N“*\ H T}_D ‘5#*\ H T}—D
3.0kg 315 315 315 315 3.0kg NCNO NCNG NCNO NCNO
F2 | Pressure for InVaid Operation Flush . Push Button 2-Position Selector  Dia Spring Return Turn to unlock F2 | Pressure for InVaild Operation| Flush , Push Button  2-Position Selector Dia Spring Return Turn to unlock
Pressure £/ (bar) (Standard Color : Red) (Standard Color : Black)  (Standard Color : Red) (Standard Color : Red) (Standard Color : Red) (Standard Color : Black)  (Standard Color : Red)  (Standard Color : Red)
( ) ( ) ) ( ) )
The Material of Parts {415 0> &/@ g EE s
. - Panel Hole Size Panel Hole Siz 7‘ 320 |
= Valve Body : Die-Cast Aluminium . anel Hole Size
= Spool : Aluminium .
$33.0
= Seals: NBR . NBR B 233.0
= Spring : Stainless . e < e © E
= Button Parts : Stainless Steel, POM . POM 3 i iy ? @ of E §
N g 4 29 = 3 © &
= Switch Parts : Glass Filled Nylon, POM . POM N 2 |dye 7 ¢ . g 2
o o J —Bi ] RS
E g E & & g e S
B o g’ S
2 f4es 2 }.2 a g s [ols | vz‘
- 134 - l18.0] . 139 lieo| 2
le| li£.0|
5/2-Way, Pushrod & Selector Operation jie #; i #% 5t T J 7] % 3/2-Way, Pushrod & Selector Operation i % i % 2 #f ¥ & 7 3%
Thread-1/4 #%11: 1/4 Thread-1/4 #11: 1/4
ORDERING CODE ]t 5 OPERATION SPEC. OPERATION SPEC.
T+ | vald Operaon it 55mm  JPMEVAI0-FP-3  UPMEV410-SL-8 JPMEV410-MS-3  JPMEVA10-MT-3 T | Vald Opereon it 55mm  JPMEVAGO-FP-3  JPMEVAGO-SL-3 JPMEVAGO-MS-3 JPMEVA60-MT-3
2 4 2 4 2 4 2 4 X
T2 | InVaild Operation Dist 1.0mm M‘T\HI/T}_D [‘;#T\HI/TH NJT\IH/T}‘D ‘SdT\lH/T}“D T
315 315 315 315

- - m out out out out
- oot Lo LT o AT LA {A T
Pressure for Vaild Operation NCNO NCNO NCNO

J V 1 1 0 = = 2 F 4.0k F1 | Pressure for Vaild Operation "k NeNo
P IVI E F F ] Flush . Push Button 2-Position Selector Dia Spring Return Turn to unlock -Okg h ~Position S 5 1
F F2 | Pressure for Invaid Operation Flush , Push Button ~ 2-Position Selector  Dia Spring Return Turn to unlock

Pressure for InVaid Operation (Standard Color : ed) (Standard Color : Black)  (Standard Color : Red)  (Standard Color : Red) (Standard Color : Red) (Standard Color : Black)  (Standard Golor : Red) ~ (Standard Color : Red)

| | ( ( )
\ \ !—1 \—\ \—\ /
" " " . s o - .
Valve Series Function Port Size  Thread Switch Type Mounting Holes N E 2 L g
18] 251 ik e LR 4 JFRRR ZHAL > | 592 (I i
JPMEVA 1 ‘ 5/2 - Spring Return 0 ‘ G FP | Flush,Push Button (R) () 2 ‘ 25mm Panel Hole Size - Panel Hole Size ‘.M“
: 6 | 32- Spring Retum 1 [ neT SL | 2-Position Selector(B) O 3 | 30mm
M5x 0.8-Port Body MS | Mushroom 40mm dia Spring Return(R)
M5x 0.8 40mm ) R
. MT | Mushroom 40mm dia Turn to Unlock(R! el I
JPMEV2: o Uriosk ) ; . (=T .
2 N M -
1/8-Port Body ()standard Color ( ) o & 9 H z & &
18 3 i £ & © &
o 7 ) 2
JPMEVA4: DO N 5
> 2 e o
1/4-Port Body & o S E o B
g Y07 ik o=
|20.0| E M‘ ‘ 25| |
26.5 = 265 345 E

(103 DD G109



JRLV Series

Roller Lever Mechanically Valvesifiti 255 {1k &

JISP

3/2-Way, Pushrod & Roller Lever Operation Jii % i % 20 #fi: 4T % 7 %
Thread-M5x0.8 #11: M5x0.8

0 5/2,3/2-M5,1/8,1/4 [ Excellent Durability [ Convient Installation [J Direct Type, Quick Response

5/2-Way, Pushrod & Roller Lever Operation Jiie % i £ = #fi: 4T % 7l %
Thread-M5X0.8 #%11: M5x0.8

SPECIFICATION #ii%

JRLV110 | JRLV110-1RP |JRLV110-2RP JRLV160-PU | JRLV160-1RP| JRLV160-2RP
SERIES JRLV100 ‘ JRLV200 ‘ JRLV400 T | Vaild Operation Dist 2.0mm 6.0mm 7.0mm T+ | Vaild Operation Dist 2.0mm 6.0mm 7.0mm
T2 | InVaild Operation Dist 1.0mm 2.0mm 2.0mm T2 | InVaild Operation Dist 1.0mm 2.0mm 2.0mm
ITEM LH FUNCTION 5/2’ 3/2-Way F1 | Pressure for Vaild Operation 2.0kg 1.0kg 1.0kg F1 | Pressure for Vaild Operation 2.0kg 1.0k 1.0kg
Fluids C ompresse d Air F2 | Pressure for InVaid Operation F2 | Pressure for InVaid Operation
g a g _ JRLV110-PU JRLV110-1RP JRLV110-2RP JRLV160-PU JRLV160-1RP JRLV160-2RP
JRLV160-PU JRLV160-1RP JRLV160-2RP
out MOUTH out Port Size M5 ‘ 1/8 ‘ 1/4 2 4 JRZLVLWO*WHB JH\ivLIO*ZRB ouT JRLV160-1RB JRLV160-2R8
\ 5 \ 5 ouT ouT
NENG NENG firervom Pressure(bar) 0~8.0 315 m NJEED NCNO
= 315 315 NC NO NCNO
Eff. Sectional Area(mm?®)-5bar 35 ‘ 12.6 ‘ 19.0 o 2
A 3
i i 3 Aze, 3 129,
Ambient & Fluid Temp. 5~60°C(41~140°F) 3 e 7
o Not Required(Use ISO VG32#) 85 9140
Lubrication ( 1 SO VG32#) Rz7a- 12 Vo
#14.0 - R27.97
[l N 2 2 514.0
o e E ks
| Pt A = L 3 @
it H FPEN=R B R N A h - _gen_ B
Transition Capacity Graph i & ifj £ & o A : q 3 Fl H i
1600 e o y g | 1 o 3 e
1500 I I ST I =3 P g g Ele=YE 8
1a00 || ———1— ;:{ 4 4 :
1300 JRLV400 _ T L g 3
1200 — - JRLV200 LLH 150 Mﬁ
—~ 100 ——- = = JRLV100 2305 50
£ 1000 — ]
€ 900 —
= 800 = . N o N . N N Iy
= 700 1= 5/2-Way, Pushrod & Roller Lever Operation Jii % i/ % 24 #fi: 4T % 7l % 3/2-Way, Pushrod & Roller Lever Operation Jiie % i £ <8 #fi: 4T 2 7l %
§ 60 =T Thread-1/8 #%11: 1/8 Thread-1/8 #11: 1/8
500 T JRLV210 |JRLV210-1RP|JRLV210-2RP JRLV260-PU |JRLV260-1RP| JRLV260-2RP
ggg 47 T+ | Vaild Operation Dist 3.0mm 8.5mm 9.5mm T+ | Vaild Operation Dist 3.0mm 8.5mm 9.5mm
200 = = B ———— === T2 | InVaild Operation Dist 1.0mm 2.0mm 2.0mm T2 | InVaild Operation Dist 1.0mm 2.0mm 2.0mm
108 r-r- ] F1 | Pressure for Vaild Operation 2.0kg 1.5kg 1.5kg F1 | Pressure for Vaild Operation 2.5kg 1.5k 1.5k
1 2 3 4 5 6 7 8 F2 | Pressure for InVaid Operation F2 | Pressure for InVaid Operation
Pr e K/ (bar) JRLV210-1RP JRLV210-2RP JRLV260-1RP JRLV260-2RP
ressure Jk ar JRLV210-PU JRLV210-1RB JRLV210-2R8 JRLV260-PU JRLV260-1R8 JRLV260-2R8
2 4 2 4 2 4 ouT out out
315 315 315 NCNO NCNO NCNO
The Material of Parts {4445 E
2 E
. - o 129 kS
= Valve Body : Die-Cast Aluminium . \@ 3 70
= Spool : Aluminium » “
o 14.0
= Seals: NBR . NBR 2 - ’
= Spring : Stainless . 2 2| g < s 3
" | A 8. b | K3 - °
= Lever Parts : Steel Plate, POM - POM 3 e & = n ;\ TH_T g 3| b
. & s T o ]
= Pilot Parts : Glass Filled Nylon - T o ;Z g & - A g
= Cap: Zinc Pressure Die-Cast - 4 $/ 3 o8 = ] o 51 ] =l J | [d2 o N
5 % AT 3 i g g g f e : ?
e 3 e 4 4= iadl
g S =1 L
Q‘ |2k [21s] o L'W [l [zs | o o |
= 13.0 285 | - kal E 13.0 e = |1s.0| 2
|18.0] 180
5/2-Way, Pushrod & Roller Lever Operation jii## it 4% 2 #fi: 4 1% ] 1t 3/2-Way, Pushrod & Roller Lever Operation i % % 4% 50 #fi T % ] %
Thread-1/4 #%11: 1/4 Thread-1/4 #%11: 1/4
JRLV410 | JRLV410-1RP | JRLV410-2RP JRLV460-PU| JRLV460-1RP| JRLVAE0-2RP
T+ | Vaild Operation Dist 3.6mm 9.0mm 10.5mm T+ | Vaild Operation Dist 3.6mm 9.0mm 10.5mm
T2 | InVaid Operation Dist 1.0mm 3.0mm 3.0mm T2 | InVaild Operation Dist 1.0mm 3.0mm 3.0mm
O R D E RI N G c o D E ﬂ— U@ ,f% % F1 | Pressure for Vaild Operation 3.5kg 1.5kg 1.5kg F1 | Pressure for Vaild Operation 3.5k 1.5kg 1.5kg
F2 | Pressure for InVaid Operation F2 | Pressure for InVaild Operation
JRLV410-PU JRLV410-1RP JRLV410-2RP JRLV460-PU JRLV460-1RP JRLVAG0-2RP

- 2 4 JRLV410-1R8 JRLV410-2R8 ouT JRLV460-1RB JRLV460-2RB

NCNO NCNO

57.0, #17.0
" " A s =
Valve Series Function Port Size  Thread Operator/Function 55.0 R20.5~ [-225 ,
Wz b e A
PEY]] hiig Py hik 542 /M 70 S
© 225 " o)
. 1| s12- Spring Retur o |6 PU | Pushrod 2 4 i g
RLVA: : i iy lien ) :
6 | 3/2-Spring Return 1 ‘ NPT 1RP | Two-way Plastic Roller Lever g + p b < N
M5x 0.8-Port Body —_ - & ] o S Y { &
1RB | Two-way Bearing Roller Lever N 3 < > & @ﬁv § g
o 7 5| st /
2RP | One-way Plastic Roller Lever 3 . 3 d ¥ === feal SR g
JRLVZ . 2RB | One-way Bearing Roller Lever 7 + a + of L]/ i & of 77 <+ 5 * ’
) B ]
1/8-Port Body i o J T o d 9 M )
pe=, ]:34} “ E 1 ERENPSNE 2
3 B2 PoE= D e e
. & [ |7 : L
JRLV4. of 20,0 ‘ 26.5 ZLL 10}
1/4-Port Body s & | Zes s |9 | 265 | N

105 DD G100



JHLV Series

Roller Lever Mechanically Valves-#j &

05/2,3/2-M5,1/8,1/4

JHLV310-S Single i3k
2 4

315
JHLV320-D Detented filz)
2 4

O Excellent Durability GF AW A)

JHLV330-D Closed Center
2 4

EERVINIDAS,

315
JHLV340-D Exhaust Center
2 4

SPECIFICATION #if%

[0 Convient Installation (FfE% %)

O Direct Type, Quick Response (E A, [REM ;)

°
i~

JHLV460-S Single #3)
ouT

ANIEZ)

NC NO
JHLV460-D Detented fils)
ouT

I ANINE

NC NO

JHLV560-S Single #.3)
oUT

ANIET)

NC NO
JHLV560-D Detented filzh
ouT

I ANHHE

NC NO

JHLVB10-S Single #2)
2 4
315
JHLV620-D Dentented #la)
2 4
315
JHLV630-S Closed Center
2 4

JHLV640-S Exhaﬁzs‘tECemer

JHLV650-8 Pressyef(:emer

ERR

JHLV330-S ClSsed Center JHLV350-D Pressure Center
2 4 P

JHLV340-5 Exhalist Benter

JHLV350-S PressyejCenter

JHLV410-S Single #:% HLV430-D Closed Center
2 4 2 4

315 315
JHLV420-D Detented iz HLV440-D Exhaust Center
2 4 2 4

.
315 15

JHLV430-S Closed Center HLV450-D Pressure Téfter
2 4 2 4

JHLV440-5 Exhaijst enter

JHLV450-8 PressyejCenter

JHLV510-S Single % JHLV530-D Closed Center
2 4 2 4

315 315
JHLV520-D Detented iz JHLV540-D Exhaust Center
2 4 2 4
v {

JHLV530-S CISsed Center JHLV550-D Pressure’Center
2 4 2 4

JHLV540-8 EXhalZS‘l jCenter

JHLV550-5 Press}?ef Center

ORDERING CODE iT 4t 5

G107 D

JHLV3Z 1

| |
\ \
Valve Series Function
8% 251 ) e

SERIES JHLV300 | JHLV400 ‘ JHLV500 JRLV400
ITEM 37 H FUNCTION 5/2, 5/2-Way 5/2, 5/2,3/2-Way 512, 5/3-Way
Fluids Compressed Air
Port Size w | e | w2
Pressure(bar) 0~8.0
Eff. Sectional Area(mm?)-5bar 135 ‘ 18.0 ‘ 350 ‘ 90.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
inati Not Required(Use ISO VG321 )
Lubrication ( 1 SO VG32#)
Transition Capacity Graph i ik K
O T T T 1]
— — — JUHLV630-S.D L
7000 — - — JHLV600-S.D . ; =
JHLV500-S.D @+
o 6000 — === JHLV400-S.D A
E 5000 - - = = JHLV300-S.D ~_ -
Z 4000
C
G 3000
2000
1000
o L
1 2 3 4 5 6 7 8
Pressure /) (bar)
The Material of Parts #1415
= Valve Body : Die-Cast Aluminium -
= Spool : Aluminium -
= Seals: NBR u NBR
= Spring : Stainless .
= Lever Parts : Steel Plate,POM . POM

JHLVE30-D Closed Center
2 4

ECRNINMIVAZ

315
JHLV640-D Exhaust Center
2 4

JHLVB50-D Pressure Cénter
2 4

316

0O - S
—

Return Method
5241

3/8-Port Body

Port Size Thread
pARE 5
o |6

S ‘ Single Spring Return # {f: il i

1 | NPT D | Double Detented i i

1 5/2 Spring #.3)
JHLV3: 2 5/2 Double %)
1/8-Port Body

3 | 5/3Closed Center fi 45t
JHLV4: 4 | 5/30pen Oenter itk
1/4-Port Body _—t—————

5 5/3 Pressure Center 1 [1: 1
JHLVS: 6 | 3/2Normally Closed

JHLVE:

1/2-Port Body

5/2-Way, Hand Lever Manually Actuated Valve T4
Thread-G1/8 #%11: G1/8

JHLV310-8 JHLV320-D

SINGLE #3)

DOUBLE &)

230,

JISP

5/2-Way, Hand Lever Manually Actuated Valve -4 %
Thread-G1/8 #H: G1/8

JHLV330-S Closed Center JHLV330-D Closed Center
315 315
JHLV340-S Exhaust Center JHLV340-D Exhaust Center
AVIIiIPAT e IITZE
315 315
JHLV350-S Pressure Center JHLV350-D Pressure Center

Corrd

315

Tﬁ&\‘/

=

5/2-Way, Hand Lever Manually Actuated Valve T4
Thread-G1/4 f11: G1/4

JHLVA10-S Single 1) JHLV420-D Double #5)
2 4 2 4
315 315

5/3-Way, Hand Lever Manually Actuated Valve T4 [
Thread-G1/4 #:11: G1/4

JHLV430-8

315

JHLV440-5

315

JHLV450-5

Closed Center

Exhaust Center

Pressure Center

3/2-Way, Hand Lever Manually Actuated Valve T4
Thread-G1/4 #11: G1/4

JHLV430-D Closed Center JHLV460-S Single iz JHLYAG0-D Double %z
out aut
315 NC ND NC NO
JHLV440-D Exhaust Center
315
JHLV450-D Pressure Center

T

5/2-Way, Hand Lever Manually Actuated Valve T4/
Thread-G3/8 f%I1: G3/8

JHLV510-5 Single i) JHLV520-D Double ¥4 JHLV530-D
2 4 2 4
MANIIVA= EAVIIVAL
315 315
JHLV540-D
480
JHLV550-D

180

5/3-Way, Hand Lever Manually Actuated Valve 715
Thread-G3/8 #%11: G3/8

JHLVS30-S

Closed Center

.

315

JHLVS40-5

Exhaust Cente

g

315

JHLVS50-5

Pressure Center

3/2-Way, Hand Lever Manually Actuated Valve F-#i [
Thread-G3/8 f%11: 63/8

JHLV530-D Closed Center JHLV560-S Single ‘TUJJ JHLV560-D Double A#)
315 NC NO NC NO
JHLV540-D Exhaust Center
wIEHTZH )
315 \‘ T
J ]
JHLY550-D Pressure Center § 11

) 2.4 j;
fan et

I i 2-64.5 Hole:

180
180

230

Frsen b

455

5/2-Way, Hand Lever Manually Actuated Valve T4/
Thread-G1/2 #11: G1/2
JHLVB10-S

Single M3 JHLV620-D Single X5

g 2
315 315
o ’—jﬁ\

NI
S E

4 P PP | WY

65.0
460

197.0

5/3-Way, Hand Lever Manually Actuated Valve 1 i

"
Thread-G1/2 #%11: G1/2
JHLVB30-S Closed Center JHLVE30-D Closed Center
315 315
JHLV640-S Exhaust Center JHLVE40-D Exhaust Center
JHLVES50-S Pressure Center JHLVE50-D Pressure Center
315 315
WA

S

2-95.3 Hole:

o
$
—
-

G109



JKMV Series

Pull Manually ValvesT-$ &

05/2,3/2-1/8,1/4 [ Direct Operation Type (EZ1%Y)

JKMV310-S-P JKMV310-DA
2 4 L2 4
315 L Rt L

JKMV310-D JKMV310-D-P
2 4 2 4

315 315

JKMV410-8 JKMV460-S
2 4 ouT

315
JKMV410-D
2 4

NC NO
JKMV460-D
ouT

JKMV410-D-P
2 4

£ T ] T v
315 315 NC NO
JKMV460-DA
ouT

-

NC NO

ORDERING CODE i /{5

JKMV3 1

|
\ \
Valve Series Function
1% % 51| e

[0 Simple Operation (3{Ef& &)

SPECIFICATION i

[0 Space Economy Type (%5 8 T5 & &)

5/2-Way, Spring Return &Push Pull & Air Return Operation

JISP

SERIES JKMV300 JKMV400
ITEM %t H FUNCTION 5/2-Way 5/2,3/2-Way
Fluids Compressed Air
Port Size 1/8 ‘ 1/4
Pressure(bar) 0~8.0
Eff. Sectional Area(mm?’)-5bar 13.5 ‘ 18.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
it Not Required(Use ISO VG32 #
Lubrication a ( ( ' so vesz#))
Transition Capacity Graph i i fh 4k &
1800
1600
1400
T 1200 T
£ 1000 ——
Z 800 > -
c -
3 600 g
400 -
200 =
0
1 2 3 4 5 6 7 8
Pressure k7)) (bar)
The Material of Parts {415
= Valve Body : Die-Cast Aluminium .
= Spool : Aluminium .
= Seals: NBR . NBR
= Spring : Stainless -
= Lever Parts : Steel, NBR, Aluminium - NBR
= Cap: Zinc Pressure Die-Cast -
= Standing Plate : Steel Plate .
Standing Plate(Material:SCP1)
AL (B it SCP1)
Ordering Code irmsfts
JKMV-P

o - S - P
Return Method
75

Plate
LR

|
JKMV3: 1 | 5/2 Spring

Port Size Thread
FARE: P
o |6 S

Push, Spring Return P ‘ Standing Plate

1 | NPT Push, Full

11 PortBody © [ 32Nomaly Cosed
1/8
JKMV4:

1/4-Port Body
1/4

(109 EIEED

DA | Push, Air Return

SEAL 7 Bt 8B AL AL ITEM | JKMV310-S | JKMV310-D
Thread-G1/8 #11: G1/8 T 4.0mm 4.0mm
Fi 4.5kg 2.0kg
JKMV310-S JKMV310-S-P
2 4 2 4
315 315
JKMV310-D JKMV310-D-P JKMV310-DA
2 4 !
S INIIVAS ANIIVAS
315 "22-0‘ 315 . P 315
j
f
E B g 2 i 2
b & 3 o s ) h
i 43 & 3 4
1A | i Ei
J P H— #—7 D S
g E 4 e B 2
4 £ §@F = 0 =T ) ] — E € ] =T
S S 5 5 R = g
18.0 ‘ 7.0 N
23.0 34.0 o € l J
% G1/8
4
5/2-Way, Spring Return &Push Pull &Air Return Operation 3/2-Way, Spring Return &Push Pull & Air Return Operation
AL & RUR B S JKMV410-S | JKMV420-D P RV B H A
; ITEM
Thread-G1/4 #:11: G1/4 JKMV460-S | JKMV460-D Thread-G1/4 #:11: G1/4
T 4.0mm 4.0mm
JKMY410-S JKMY410-S-P Fi 4.5kg 2.0kg JKMV460-S
V] T iN
315 315 NC NO
JKMV410-D JKMV410-D-P JKMV410-DA JKMV460-D JKMV460-DA
2 4 2 4 2 4 ouT ., OUT
| ! .
375 K P NENO e
£22.0 =
‘ ‘ J 222.0
T ‘ ‘
f
-
3 3 v
E o 2 3
K | 3 Q o) I
2 K3 3 b ) B | )
> T 3 T i 2 3
; i E I 4 y / 3 J 3
- & 3 “ 3 8
= 4 1 g
&7 A > ¢7 — A a:
27 - E 7 e g é 41 17 g . g
i @@ N S — 1 he 9 poig ) ® 4 n.o0=|" -
g el || 2 3 Bl fhe o J . IS [
20‘ 0 7.0 ‘ ‘ 8.0 E4 - 9’ I::I ? 265 | ; 20.0 ;
o) @ 145 265
26.5 34.5 3 f 31/8
4 Gl /8

GIE( 110



JTMV Series

Toggle Lever operated Mechanically Valvesi 5 41 F - H LA /&

05/2,3/2-1/8,1/4 [ Direct Operation Type(E#1B!) [ Simple Operation(3E{EBEH) O Manifold Mounting Type (R &%)

SPECIFICATION #if%

5/2-Way, Toggle Lever Manually Actuated Valve J& 1541 FFHLAk

00 2£15.0
7 T

Thread-G1/8 #%11: G1/8

JTMV210
CAVIIFAR
315
\
|
o “ ‘
2-93.3 Hole 2 | s-c1/8
2-G1/8B .
\4‘*/(2,4—{%() T ET ( 133port
Y e o 7@
9 G T of R <
8 || F e 8
N ﬂ w 9y
e = E] id
= = T Al
! =
|25 2-95.3 Hole{| | 1215 | a0
lsl| 4 25.0 18.0
18.0 285
34.7
2-84.4 Hole
& Al
@ @
o
50.0° B
V
A EER
STSTST
qr“’ + DD|D®
=
L lisl | D] D) Dle
Je§geqdf=4g
Il
25 Hole [T T JMF2500-4
6.0 B=[19.0n+9.0] 6.0
e § PORT MANIFOLD BLOCK DIMENSION S

2 4 6 8 10 12 14

B | 470 | 850 | 123.0 | 161.0 | 199.0 | 237.0 | 275.0

A | 590 [ 970 [ 1350 [ 173.0 | 2110 | 249.0 | 2870

JISP

3/2-Way, Toggle Lever Manually Actuated Valve & 17FLFTHLAK IR

Thread-G1/8 #%11: G1/8
JTMV260
2

13
JTMV270
EIANE!
13
ofir

2-83.3 Ho\e\ |
| 1/8(A-Port)
%’Egi{/

123.5

2-G1/8(P,R-Port)

' I 1 ‘J’
] ] A48
3
a 3 =
C I o g
HE] 2-93.3 Hole /| | 1205
30| = 25.0
285
34.7
2—94.4 Hale
& ¥ i
b 4
9
E
50.0"
(v
%\ |
f A
EAERKES ¥
[ B
b bl bl b 3 <l .
[ Ve ey e ol o
‘ T \ E
/ g 59 79 9 fen—
2-04.5 Hole~ [T T T
200 P=10.0 1 »
a-c1/4 f NG JMF2300-4
6.0 B=[19.0n+0.0] 6.0 { 25.0
15 B2 ] s 3 PORT MANIFOLD BLOCK DIMENSION .

B 2 4 6 8 10 12 14

B | 47.0 | 850 [ 123.0 | 1610 [ 199.0 | 237.0 | 275.0

50.0 | 97.0 | 135.0 | 173.0 | 211.0 [ 2400 | 287.0

SERIES JTMV300 ‘ JTMV400
ITEM 3t H FUNCTION 5/2,3/2-Way
Fluids Compressed Air
Port Size 1/8 ‘ 1/4
Pressure(bar) 2.0~10.0 0~8.0
Eff. Sectional Area(mm?)-5bar 9.0 ‘ 18.0
Ambient & Fluid Temp. 5~60°C(41~140°F)
it Not Required(Use ISO VG32 #
Lubrication ( ( 1 SO VG3 2)# )
JTMV210 JTMV210-P JTMV260 JTMV260-P
JMv270 JTW270-p Transition Capacity Graph jii i il 2k %
2000 ‘ ‘ ‘ ‘ P
T 1600 7 JTMV200 = ]
£ [ |=~="-JTMVv400 1" L—1
£ 1200 T =
= 8800 T ,///
9 0 g
0 =
1 2 3 4 5 6 7 9 10
Pressure K J; (bar)
The Material of Parts {15
= Valve Body : Die-Cast Aluminium .
= Spool : Aluminium .
= Seals: NBR - NBR
= Spring : Stainless -
) = Lever Parts : Steel, NBR, Aluminium -
JTMV410 JTMV410-P JTMV460 JTMV460-P
ﬂ@mﬂ mmﬂ m m = Cap: Zinc Pressure Die-Cast L]
JTMVAT0 JTMV470-P
Standing Plate(Material:SCP1)
ELNL R (B 5T SCP1)
Ordering Code it
JTMV-P

ORDERING CODE i /{5

JTMV2 1 - 0 - P

— / \
Valve Series Function Plate
8 % 51 ) e LM

\ \
|
Port Size Thread
FAnE: £
o Jo

JTMV2: 1 [ 5/2 Spring P_[ Standing Plate
1/8-Port Body 6 | 3/2 Normally Closed 1 ‘ NPT

18 7 | 3/2 Normally Open

JTMV4:

1/4-Port Body
1/4

QoD

5/2-Way, Toggle Lever Manually Actuated Valve Ji 5 k1 AT HLbE i

Thread-G1/4 #:11: G1/4

50.0°
—
\ / 215.0
TMVA410 _
Lo W
315 \
\y
N
our o
i
g
b 2-G1/8
2-64.5 Hole 3-G1/4 [ /(1,3,5—Pm)
S/ (2.4-Port) T
ol Y
& d —
o o o v e @;@
E @ N S ml ! i s o |
o =
g o o —De
g | 2 P o | &
N N [\2-94.5 Hole i
t ; —
200 ) 2 bd
) 295 26.5
34.5
545, 2-04.4 Hole
& f%o
q
& SA—
44.0
50.0°
(o
%\\ {
ar [ o | o o
5
= T}
bl 1olelale 1l
g JAd A0 0. P=1 Y 9E
Ll 1997 e 97 .
2-¢55 = 2 il |
Hole
oo |p=275 oo o o4
6.0 B=[27.5n+16.5] 6.0 l16.5|
A=[27.5n+28.5] 27.0
62.3

5 PF«O(ET ,AANIFOLD BLOCK DIMENSION
SRR

WSTATION )

2 4 6 8 10 | 12 14

B | 715 | 1265 1815 | 23655 | 2915 | 346.5 | 4015

A | 835 | 1385 1935 [ 2485 | 3035 | 358.5 | 4135

3/2-Way, Toggle Lever Manually Actuated Valve Ji 5 kL FFHLL I

Thread-G1/4 #:11: G1/4

JTMV460
50.0"
e #15.0
i ; X 7
13 \
JTMV470 \
2 W
AN ‘
13
0| Il
= 2-G1/4
T e U U U ‘ (P.R—Port)
2-24.5 Hole c1/4 |
(A—Port) PR
L2 ) e
3
d| 9 M 9 {
3 o g E
g o EN == el
i ﬁ 8 e S
T = : =
200] 2-94.5 Hol |28 a0
| 30.5 26.5
34.5
54.5
2—94.4 Hole
‘& 4
%o
o
K R
44.0

Pi PP Pa

JMF4300-4

n
bso lp=27.9
55 B=[27.0n+12.0]
A=[27.0n+23.0]

3 PORT MANIFOLD BLOCK DIMENSION
30T

2 4 6 8 10 12 14

66.0 | 120.0 | 174.0 | 228.0 | 282.0 | 336.0 | 320.0

A | 770 | 1310 | 1850 | 230.0 | 293.0 | 347.0 | 401.0

=119



MEMO SRR ICONMROTLER N iseries

ATR SILENGER ' o5 Series
AMBHYIIRDGONVERTERY 7 Seriee
BOOSTER. CULINDER 1 v Series




JSC Series

Speed Controllerif i

01/8, 1/4

Jsco2-1

JSC02-2

ORDERING CODE i| /{5

$8%)) >Page

SPECIFICATION #if%

SERIES JSC02
ITEM 5i H FUNCTION 1/8 1/4
Inside Pressure(bar) 15.0
Pressure Range(bar) 0.5~9.9

Ambient & Fluid Temp.

5~60°C(41~140°F)

Rotation Frequency 8 Cycle
Weight(g) 80
Free Flux(NIl/min) 340
Flowing | Effective Profile Area mm’ 5
Control Flux(NI/min) 250
Flowing | Effective Profile Area mm? 3.7

Applicable Sylinder Diameter(¢ )

12,16,20,25,32,40,50,63,80

The Material of Parts {4 /i

= Valve Body : Zinc Pressure Die-Cast

= Housing : Brass

= Controll Bar : Brass

= Hex Nut: Carbon Iron
= Lock Nut: Brass

= Seals: NBR

. NB R

£ £
= (Y =

Speed Controller i3 iy
Thread- 1/8 #r1: 1/8

4.5

10.0,

JISP

28.0

HH M14x1.0:

/JSCOZ*W:W/B

‘ B E
NE]

Min50.0
Max56.0

JsC02 - 1

Model Port Size  Thread
e B

1 G1/8
2 G1/4
3 NPT 1/8
4 NPT 1/4

o
Y o
ds
17.5 18.0
255
Speed Controller i &
Thread- 1/4 #:1: 1/4
21.0
8.0
E Il
g M14x1.0
o oo JSC02-2:1/4
g 318 /
— o %
= - S22
Sl o
W] 9
g
18.0 17.5 18.0
25.5

PANEL HOLE [hitR %44l

GIE( 119



SILENCER Series Wi ¥

i 7 B R v @ L JIS

0O M5, PT1/8, 1/4, 3/8, 1/2

SPECIFICATION #if%

METAL SILENCER <=7+ %% B
@ Type PORT SIZE WEIGHT DIAMETER —A D N e .
PT Q) A B © D
ASS-1000 JASS 1000 M5 2 4 18 7 7 = a—
)|
JASS 2000 1/8 6 7 24 8 " 3 ) D[:] [:] :]
]
TR JASS 4000 1/4 17 8 32 10.5 15
el
YP== JASS 5000 3/8 28 10 | 39 | 12 | 19 -
PT
JASS 6000 1/2 35 14 44 15 22
AS5-2000 hozon PLASTIC SILENCER 8k} i 5 MODEL NO. | PORT SIZE WEIGHT DIAMETER MODEL NO. |_PORT SIZE WEIGHT DIAMETER
PT © A B © D PT (@ A [ eB] C D
e T PORT SIZE WEIGHT DIAMETER JASS 1000 M5 2 4 18 7 7 JAS 2000 1/8 5 40 16 14 7
‘\\\\ ype - JASS 2000 178 6 7 | 2| 8 | n JAS 4000 174 14 65 | 21 | 20 | 10
Q = @ - = c D JASS 4000 1/4 17 8 32 | 105 15 JAS 5000 3/8 22 85 | 25 | 22 | 13
e JASS 2000 1/8 5 40 16 14 7 JASS 5000 3/8 28 10 | 39 | 12 | 19 JAS 6000 112 32 95 | 26 | 26 | 14
JASS 6000 172 35 14 | 44 | 15 | 22
JASS 4000 1/4 14 65 21 20 10
ASS-4000 AS-4000
JASS 5000 3/8 22 85 25 22 13
JASS 6000 1/2 32 95 26 26 14

The Material of Parts /45

2

= Metal Silencer = Plastic Silencer

ASS-5000 * Body : Copper * Body,Cap : POM POM

=

ASS-6000 AS-6000

ORDERING CODE i {5

JASS - 1000

KE &1 R

JASS: 1000 [wsxo8
Metal Silencer 2000 PT 1/8
3000 | PT1/4
JAS: 4000 | PT3/8
Plastic Silencer 5000 PT1/2

(119 EIEED GIE( 120



JCT Series
Air Hydro Controllef< i #: %%

OPressure (/1) 3 7bar

JISP

SPECIFICATION #if%

(=]
D Usage Pressure 3~7bar
} A
T Guaranteed Internal Pressure
10.5bar DA
Ambient  Fluid Tem B
P: 5~50
Fluid Tubin Oil, Hydercting Diameter(40~100cst)
o
3
The Material of Parts {i{i{}:5 /i
= Body : Die-Cast Aluminium »
= Tube : Aluminium Extruding -
= Indicator Tube : Polycarbonate . 4T E) Ar—Pipeing
= Floot : Bubble Resin -
= Tie Rod : Carbon Iron -
= Nut Part: STS304 T 4
JCT 63x100 b STS30
| , =
I [suns!
I I
o
(€]
JCT 100x100
4
4—M6 0il Pipeing
4-M5
5 7\«@
> w| I + =
j - 2
‘ ‘ ‘ halng
—— —t— i T
x A
I
E
JCT 160x100
MODEL NOAITEM Air Port (PT) Oil Port (PT) A oc DA DB DL E
JCT 63 3/8 3/4 104 64 86 89 53 72
N =)
ORDERING CODE Tt %5 JCT 100 112 1 139 92 17 124 61 100
JCT 160 3/4 11/4 202 144 180 183 59 100
-
J CT 63 1 00 MODEL NOAITEM F G H K NL P QB aL T w X Y
JCT 63 36 72 36 45 28 3 86 31 11 6 35 35
JCT 100 40 72 36 65 33 5 118 32 13 6 53 45
’ JCT 160 40 72 36 93 29 0 180 48 18 6 44 44
Diameter of Converter
A
o3 T 63mm L'Dimension '’ J{5]
100 100mm MODEL NO.\STROKE 50 100 150 200 250 300 350 400 500 600 700 800
160 | 160mm JCT 63 224 294 344 394 444 494 544 594 694 - - -
JCT 100 - 304 354 404 454 504 554 604 704 804 - -
JCT 160 - - - 414 464 514 564 614 714 814 914 1014

50 100 150 200 250 300 350 400 500 600 700 800
63 O [®) [®) [®) O [®) [©) O [®) X X X
100 X [®) [®) [®) O [®) [©) O o o X X
160 X X X O ©) O O ©) O O O ©)

Except to the above stroke statements, stroke design can be according to a quotation.

(§¥2) >Page  Page> @RED



BOOSTER Series sz

Direct Compressed Typ¢g Precompressed Typer /& & /i [+ Y

SPECIFICATION #if%

JIS~

OilHole

Direct Compressed Type
JENi i) SERI%ESJ JNBH3-40 JNBH3-60
_ . #5 Wi
JNBH3-40 (11:1) ITEM 5t JNPH3-40 JNPH3-60
JNBH3-60 (2531) 2-63/8
Heavy Pressure Rate /&t 1:1 25:1 AirPipeing
Overflowing Oil Gauge i iii #it 70cm’(70cc) 70cm’(70cc)
Overflowing Oil Pressure at the Time of
Application Maximun air Pressure Temperature 77kgflcm? 175kgf/cm®
[CONGYL R V)] 4-911.0
Ambient  Fluid Temp 5~60°C(41~140°F)
Operation Oil Hydraulic liguid
A
Flux Air
Air
Pressure Oil-Feeding Not Require
Department
Pressure 3~7bar
%Sjiugmessed Type GConverter is Optional oil Tubin oil,Oil Equivalent to ISO VG 32 #
Jin b B T
. A v ik . .
JNPH3-40 (11:1) Weight(direct pressure) ( ) 8.0kgf 10.0kgf YL A 3 5 = @ 7 = T M
JNPH3-60 (25:1) UNBH3-40-70 | 378 | 188 | 1625
N INBH340-100 | 478 | 238 | 2125 | o | %0 | 180 | 120 60 1
The Material of Parts {4} i UNBH3-60-70 | 378 | 188 | 1625
225 | 190 | 227 | 137 | 90 16
= Rod Cover : Die-Cast Aluminium . JNBH3-60-100 | 478 | 238 | 2125
= Head Cover : Die-Cast Aluminium -
= Tube : Aluminium Extruding -
= Tie Rod : Carbon Iron . MODEL NO. A B C F G d K L M
= Hex Nut: Carbon Iron - —— JNBH3-40-70 378 | 188 | 1625
Precompressed Type 75t/ %! INBH340-100 | 476 | 238 | 2125 | 00 | 10| 180 | 120 60 1
JNBH3-60-70 378 | 188 | 1625
225 | 190 | 227 | 137 90 16
JNBH3-60-100 | 478 | 238 | 2125
Air Hydro Converter
#5.5HOLE
#9.0DP5.5
we.SHOLE\ ‘7020':
11.5DP7.5 = o
JNBH3-40(11:1) JNPH3-40(11:1) \ 93 ‘
NBH3-60(25:1) JNPH3-60(25:1) -
@ o o
" 8§ <
) A alrPing cb—EJ

Hydro Cylinder
il G

Compressed Air
Lt %AH: ‘/;\- P “

Hydro Cylinder
i s G

c1/2
irPipeing

o

» Ending stroke
g

Compressed Air K AT R

s 45 U5

( Direct Compressed Type ft fi & 4i 1! )

( Precompressed Type i J %! )

ORDERING CODE i 945

40 -

Heavy Pressure Rate
L

70
\—\

JNBH3 -

Booster Series
Eigne

Overflowing

JNBH3 | Direct Compressed Type 40 [(1:) 70 [ 7occ

JNPH3 ‘ Precompresses Type 60 ‘ (25:1)

100 | 100cc

(123 EIEED

» Precompressed Travelling stroke
AT RS

P Travelling stroke
TAEAT 2

B in
R )

[SOL 1 ON / SOL 2 OFF]

[SOL 1 ON / SOL 2 ON]

G129



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31

